TVC(cbch)(OOO) TVC(cbch)(OOl) TVC(cbch)(OOZ) TVC(cbch)(003)
A™ i byze+u4 [ 25 “rnun g ple+ud /25 A” 11 bose+ud [ 25 A~ 1w pbve+ud /25
40008 po 4139+ 0.0 4000, po 4145+ 0.0 4000, po 4147+ 0.0 4000, po 4145+ 0.0
pl -34.3+ 0.0 pl -34.44 % 0.00 r pl -34.32+ 0.00 pl -33.68+ 0.00

3000

E 3000 - 3000 - 3000 [ B

2000 - 2000 -1 2000 = 2000

1000 -1 1000 - 1000

ol C = 29.69 [ps/ch]

gé IUIO gé 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (O 0,4) TVC(c,b Ch) (0 0,5) TVC(c,b Ch) (0 0,6) TVC(c,b Ch) (0 0,7)
-1 nug.uzve+ud / 25 T a3 r0e+u4 [ 25 T rnug 1y/e+u4 [ 25 S Yrae+ud [ 25
4000E pO 4183+ 0.0 4000, pO 4186+ 0.0 4000E,, pO 4179+ 0.0 4000 pO 4205+ 0.0
Pl 34451000 Pl 3475000 [ Pl -33.36% 0.00 Pl -34.71% 000
3000 E 3000 E 3000 ] 3000 [ E
20001 4 2000 E 2000 ] 2000 - 4
o C ] 1000 1 wof C = 29.08 [psich™. wob C = 28.81 [ps/ch]y,
1 1 " L 1 1 -] 1 1 ~-
50 00 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eh,ch=(0,0,8) TVC(e.eh)=(0,0,9) TVC(eb,ch)=(0, 0, 10) TVC(ebeh)=(0, 0, 1)
© i zgoe+u4 / 25 ~ 1. 440e+04 [ 25 © 1 nuiLp4ze+u4 [ 25 T 4z5e+04 [ 25
000, pO 4240+ 0.0 4000 f, pO 424200 4000 DO 4265+ 0.0 4000 fi, p0 2272400
Pl -37.19%0.00 Pl -35.88+ 0.00 [ PL_ -36.08% 0.00 Pl -35.61% 0.00

3000 T 3000 - 3000 N 3000

2000 -1 2000 -1 2000 N 2000

1000 T 1000 N 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (0,0,12) TVC(cbch) (0,0,13) TVC(cbch) (0,0,14) TVC(cbch) (0,0,15)
-1 nug ugse+us | 25 ~ 11 pasve+ud | 25 ~ 1 nug g45e+04 | 25 -1y pzae+U4 | 25
4000 pO 4244+ 0.0 4000 4256+ 0.0 4000 PD 4241+ 0.0 4000 [, 4245+ 0.0
pl -36.12+ 0.00 -35.41+ 0.00 r pl -35.09 + 0.00 -34.42 + 0.00
3000 N 3000 T 3000 - 3000 b
2000 7 2000 - 2000 — 2000 4

1000 1000

= 1000

1o00r C = 29.06 [ps/ch] ]

PR U S S |
50 100

PR I S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(cbch)(OlZ) TVC(cbch)(013)
A” 1L zb4e+ud [ 25 A~ 1w zoye+ud | 25 AT g 3sse+u4 [ 25 A~ 1w aype+ud | 25
4000 e, PO 4185+ 0.0 4000 - po 4194+ 0.0 4000 __- po 4217+ 0.0 4000 e po 4217+ 0.0
pl -34.4+ 0.0 pl -35.22+ 0.00 : pl -36.17 i_0.00 pl -36.27 + 0.00

-1 3000

- 3000 1

3000 =1 3000

2000 4 2000 - 2000 B 2000

] 1000 . 1000 - 1000

1000

50 0% 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (0,1,4) TVC(cbch) (0.1,5) TVC(cbch) (0,1,6) TVC(cbch) (0.1,7)
T i 1.44e+04 /25 -1 nu 3vze+u4 [ 25 ~ 1 nuiL4u5e+04 / 25 -1 nui 3use+u4 / 25
4000 fo pO 4210+ 0.0 4000 Fem, pO 4217+ 0.0 4000 fe, pO 4231 0.0 4000 s pO 42341 0.0
-34.6+ 0.0 pL -34.67 + 0.00 3 pl -35.41+ 0.00 pL -34.61+ 0.00
3000 E 3000 - 3000 — — 3000 E
2000 4 2000 - 2000 ' ' 2000 - E
] : w0k C =28.24 [psichlN, ok C = 28.89 [psich]™,_
1 1 - [ 1 1 ~- ] 1 1 "
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (0,1,8) TVC(c,b ch) (0,1,9) TVC(c,b, ch) (0,1,10) TVC(c,b ch) (0,1,11)
~ 1 nuz,0uoe+u4 / 25 ~ g 3a4e+04 [ 25 TnuLse+u4 /25 ~ 1z, uabe+u4 [ 25
4000 pO 4212+ 0.0 4000 4229+ 0.0 4000 [, pO 4246+ 0.0 4000, pO 4246+ 0.0
pl -35.22.+ 0.00 -34.5+ 0.0 3 pl -35.46 + 0.00 pL -35.49  0.00

3000 E 3000 - 3000 E 3000 E

2000 2000 ] 2000 E 2000

1000 7] w00~ C = 28.99 [ps/ch] . 1000: — 1000 4
1 1 - [
50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(Oll ) TVC(cbch)(0115)

T L sbse+ud / 25 T rzoe+u4 [ 25 T ( (oe+U4 [ 25 T bbze+u4 [ 25
4000 fm, pO 4266+ 0.0 4000 [, pO 4272+ 0.0 4000 fm, PD 4255+ 0.0 4000 fe pO 4264+ 0.0
pl -37.22+ 0.00 pl -37.94+ 0.00 r pl -36.98 + 0.00 pl -37.07 + 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0

K™ 1 nuioyie+ud /25
P po 4203+ 0.0
pl -36.43+ 0.00

TP delay [ns]

TVC(cbch) (02,4

- i zog4e+u4 | 25
- pO 4186+ 0.0
pl -35.82:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

T z.4se+u4 /25
= po 4229+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (0,212

T rnuizuLse+ud | 25
4247+ 0.0
-36.9 + 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1)

T 1ose+ud [ 25
., pO 4198+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

-1 nui buze+u4 / 25
pO 4205 0.0
pL -36.69+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

Tinue.Y//e+ud [ 25
po 4261+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (0,213

T nuiz.uzoe+ud 25
4231+ 0.0
-36.91+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,2,2)

A7 1 nui4ose+04 / 25
- po 4214+ 0.0
o pl -35.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

- 1nuiL410e+04 / 25
- pO 4203+ 0.0
3 pl -36.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

1000

T nugs1se+u4 / 25
-, po 4262+ 0.0
- pl -36.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,2 14

~ 1L gose+u4 / 25
-, pD 4247+ 0.0
L pl -37.27+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3

AT 1L byse+ud [ 25
- po 4223+ 0.0
p1 -36.7 + 0.0

TP delay [ns]

TVC(c,b ch) (0 2,7

-1 nui bl3e+u4d / 25
- pO 4231+ 0.0
pL -37.32:+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

AN bUHe+U4/25
- po 4260+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(C, bch) (0,215

-1 nuiyuze+ud / 25
= po 4245+ 0.0
p1 -37.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0

A7 1 nuiL do0e+04 / 25
' po 4202+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (0,34

T lrze+04 [ 25
pO 4190+ 0.0
p1 -34.95+ 0.00

e 4
% T
TP delay [ns]
TVC(cbch) (O 3,8

Tz 314e+04 / 25
pO 4224+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(cbch) (0,312

T L, rooe+u4 / 25
pO 4259+ 0.0
pl -36.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1

AT 1L sbse+ud [ 25
P po 4201+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,5

- nun 333e+04 / 25
pO 4195+ 0.0
pL -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

T inue.U//e+ud [ 25
po 4238+ 0.0
pl -35.32 + 0.00

TP delay [ns]

TVC(cbch) (0,3,13

T inuiLaroe+ud [ 25
pO 4250+ 0.0
p1 -35.3+ 0.0

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,3,2)

1000

AT 1 nui4sse+04 /25
- po 4214+ 0.0
L pl -36.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,36

- rnuiL415e+04 / 25
-, pO 4214+ 0.0
3 pl -36.89+ 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (0, 3 10

1000

Trnubye+ud [ 25
- po 4248+ 0.0
L pl -35.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

~ 1L puse+u4 / 25
- pD 4270+ 0.0
L pl -36.43+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3)

AT rnuiLsyle+ud [ 25
po 4226+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,7

-1 nui 3u1e+u4 / 25
pO 4226+ 0.0
pL -35.62:+ 0.00

TVC(c,b ch) (0, 3

TP delay [ns]

T y/ue+u4/25
po 4257+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(C, bch) (0,3,15

T nai syse+ud [ 25
pO 4266+ 0.0
-35.41+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0)

AT 1nuiLo0e+u4 /25
.. po 4205+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(cbch) (04,4

- 1 i 549e+04 / 25
= pO 4201% 0.0
pl -36.52:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

T rnuizuz1e+u4 /25
- po 4222+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (0,4,12

~ 1L byse+u4 / 25
= po 4229+ 0.0
pl -36.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1)

AT 1 nuiLobze+ud [ 25
P, po 4185+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

= nuiL 73 /e+0d [ 25
== po 4204+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

T nuw, fbae+ud 25
- po 4237+ 0.0
pl -35.13 + 0.00

TP delay [ns]

TVC(cbch) (0,4,13

T 1 nuiL pbze+ud / 25
- pO 4237+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,4,2)

K™ 1 nui roae+04 /25
_E po 4221+ 0.0
o pl -38.21+ 0.00

TP delay [ns]

TVC(cbch) (04,6

T i ro1e+04 / 25
3 pO 4224+ 0.0
[ pl -38.06 + 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

1 nuiz.493e+u4 | 25
. po 4259+ 0.0
L -35.7 + 0.0

TP delay [ns]

TVC(cbch) (0,4,14

~ 1 nuiLpoae+u4 / 25
- pD 4228+ 0.0
L p1 -36.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

AT 1L sbze+u4 [ 25
- po 4228+ 0.0
p1 -36.7+ 0.0

TP delay [ns]

TVC(c,b ch) (0 4,7

-1 nui B14e+04 / 25
- pO 4219+ 0.0
pl -37.29+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T ab4e+u4/25
- po 4267+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T nui s40e+u4 / 25
= po 4236+ 0.0
p1 -37.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,0

AT 1nuizyie+u4 /25

e, po 4178+ 0.0
Pl -36.78+ 0.00

TP delay [ns]

TVC(cbch) (0,5,4

T rnuLuL/e+ud / 25

= pO 4192+ 00
Pl 3532+ 000

50 10‘0
TP delay [ns]

TVC(cbch) (O 5,8

1 nuiL8Ype+U4 / 25
- PD 4182+ 0.0
pl -34.56 + 0.00

TP delay [ns]

TVC(cbch) (0,5,12

~ i 444e+04 / 25
= PO 4196+ 0.0
pl -34.82 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,51

AT 1nuz131e+U4 /25
F™u, po 4177+ 0.0
pl -37.69 + 0.00

TP delay [ns]

TVC(c,b ch) (0,5,5

'V”Ulille+04/25
- Y 4182+ 0.0
pL -36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (0 59

1 nup goYe+ud / 25
- DO 4202+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (0,5,13

T 1w bube+u4 / 25
F= pO 4202+ 0.0
pl -34.69 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (0,5,2)

< Lzse+ud [ 25
- PO 4183+ 0.0
I pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (0,56

1Lz re+04 [ 25

= pO 4192+ 0.0
F PL_ -36.06% 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

1000

T nuz130e+04 / 25
- DO 4224+ 0.0
I pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (0,5,14

“ i g41e+04 [ 25
- PD 4205+ 0.0
I pl -35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3

AT 1 nuiLUB/e+U4 /25
- po 4184+ 0.0
p1 -36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (0 57

-1 nui 2yle+u4 / 25
PO 4203+ 0.0
pL -33.93+ 0.00

[ C =29.47 [ps/ch] ]

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (0, 5

AL /U4e+u4/25
- pO 4219+ 0.0
pl -34.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

T 415e+04 / 25
= PO 4203+ 0.0
pl -35.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0)

AT 1nui 3rae+04 /25
4207+ 0.0
-36.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (06,4

- i 3pze+04 / 25
pO 4195+ 0.0
p1 -36.49+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

T 1nuzpsoe+u4 | 25
pO 4214+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T 1L, robe+u4 / 25
pO 4224+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1

K™ 1L 410e+ud [ 25
Fee,, po 4198+ 0.0
pl -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

-1 nui Zsae+u4 [ 25
e, pO 4179 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

1 nu.4pYe+ud 25
= po 4230+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (0,6,13

Tinai 4ze+u4 [ 25
4217+ 0.0
-35.21+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

AT 1nuiziae+04 /25
- po 4203+ 0.0
L pl -35.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

T rnuiLb18e+u4 / 25
- pO 4198+ 0.0
F Pl 3595:0.00

3000

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

© 1 nuig.yage+u4 | 25
- po 4254+ 0.0
- pl -37.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

~ L buse+u4 / 25
- pD 4221+ 0.0
[ p1 -35.89+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3

x- 1L dsae+ud [ 25
Po=, po 4220+ 0.0
pL -36.37+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

-1 nui 4p1e+04 / 25
- pO 4194+ 0.0
p1 -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

EEALER 94/e+u4/25
= po 4267+ 0.0
p1 -37.59+ 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T inuiL oo /e+ud [ 25
- pO 4222+ 0.0
p1 -35.64 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(cbch) (0,7,0)

A~ 1 buze+ud /25
4202+ 0.0
-37.52 0.00

TP delay [ns]

TVC(cbch) (0.7,4

- 1 i Boge+ud / 25
4221+ 0.0
-35.51+ 0.00

- pO
pl
- C =
- o
TP delay [ns]
TVC(cbch) (O 7,8

©1nuiz.4uze+u4 | 25
4236+ 0.0
-36.7 + 0.0

1
100

0 50
TP delay [ns]
TVC(c,b ch) (0o, 7 12
4000 [ pO

3000

2000

1000

p1

“inu L 57e+u4 /25
4222+ 0.0
-34.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (0,7,

A

F. po
pL

1

nuiL 4o8e+U4 / 25
4212+ 0.0
-37.82+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0 7,5

“rnae 18e+u4 /25
4225+ 0.0
-36.19 + 0.00

TP delay [ns]

TVC(c,b ch) (0,7,9

X0

- po
pl

nu 3gbe+u4 | 25
4244+ 0.0
-36.79 + 0.00

TP delay [ns]

TVC(c,b ch) (0,7,

A

13

nuiL yayve+ud / 25
4239+ 0.0
-36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (0,7,2)

A~ 1 zyse+ud [ 25
4235+ 0.0
-38.11 + 0.00

F PO
L pl
1 1=
50 100
TP delay [ns]
TVC(cbch) (O 7,6)
-1 nunL Byze+u4 [ 25
-, pO 4225+ 0.0
L pl -35.43+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 7, 10

1000

= "

-1 nug 5gbe+u4 [ 25
4258+ 0.0
-36.25+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,7,14

F= P"
pl

T 1L p4se+ud | 25
4239+ 0.0
-35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (0,7,

A

po
pL

3

nui bybe+u4 / 25
4232+ 0.0
-37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

-

= pO
pl

nuz.Ugbe+u4 / 25
4220+ 0.0
-34.83+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 7

T, ua4e+u4/25
4261+ 0.0
-37.1+ 0.0

1
100

50
TP delay [ns]
TVC(c,b ch) (0, 7 15)
- 1 Ui buoe+u4 / 25
o, pO 4252+ 0.0
-36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0

K™ 1nuizioe+u4 /25
., po 4216+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (0.8,4

- i 394e+04 / 25
pO 4218+ 0.0
pl -35.08:+ 0.00

0

TP delay [ns]
TVC(cbch) (O 8,8)
-z guse+ud / 25
= pO 4239+ 0.0
pl —36.55&:‘
TP delay [ns]
TVC(c,b ch) (0o, 8 12

T zuze+ud /25
pO 4256+ 0.0
p1 -37.2+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,1

AT rnuLs1oe+ud [ 25
=N po 4201 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

-1 nu 383e+04 / 25
- pO 4212+ 0.0
pL -34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

-1 nup.y1ae+ud / 25
= po 4255+ 0.0
pl -36.02 + 0.00

TP delay [ns]

TVC(cbch) (0,8,13

T inai r9ze+ud [ 25
= pO 4266+ 0.0
pl -37.17+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,2)

A~ 1nuizroe+V4 /25
po 4213+ 0.0
p1 -35.84+ 0.00

TP delay [ns]

TVC(cbch) (0,86

- rnuiLblze+u4 [ 25
pO 4235+ 0.0
358+ 0.0

TP delay [ns]

TVC(cbch) (0, 8 10

©1nuzgoae+u4 | 25
po 4283+ 0.0
p1 -37.14 + 0.00

TP delay [ns]

TVC(cbch) (0,814

~ 1L, r9pe+u4 / 25
pD 4264+ 0.0
pl -37.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT rnuiLsize+ud [ 25
- po 4232+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

- nu /v3e+04 / 25
pO 4240+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

T, /bbe+U4/25
- po 4275+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(C, bch) (0,815

Tonan L e+ud [ 25
- pO 4256+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

K71 nui syoe+u4 / 25
Peee.. po 4184+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(cbch) (0,9,4

- i byge+ud [ 25
- pO 4182+ 0.0
p1 -35.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 9,8

T rnuzb41e+04 /25
po 4217+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T rnuiLyrse+ud [ 25
= po 4222+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

“ o 1gse+ud [ 25
peee,, pO 4180+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

=1 i bgbe+u4 / 25
pO 4200+ 0.0
pL -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

T naiyzze+ud [ 25
= po 4213+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (0,9,13

T nai 349e+u4 / 25
= pO 4198+ 0.0
pl -34.56 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

K™ 1 nuidoze+04 /25
- po 4200+ 0.0
[ p1 -36.35+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

- 1L Bube+u4 / 25
- pO 4200+ 0.0
[ pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

T nuzgoe+u4 [ 25
= po 4249+ 0.0
- pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (0,9,14

T rnuiLgnie+u4 /25
- pD 4209+ 0.0
L pl -34.24.+ 0.00

- C = 29.20 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

AT rnuiLg1e+u4 /25
- po 4201+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

- nuiglie+u4 / 25
e, pO 4217+ 0.0
pL -36.77+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 9

T z/4e+u4/25
- pO 4247+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T inai45e+u4 / 25
e pO 4224+ 0.0
p1 35+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

T rnuiLzzoe+u4 [ 25
™ pO 4209+ 0.0
-34.23+ 0.00

[ C =29.21 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,10,4

- i, r8oe+u4 / 25
pO 4227+ 0.0
pl -36.66+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 10 8

T L, r48e+04 / 25
= po 4216+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (0,10, 12

T L gs4e+u4 / 25
= po 4261+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

[ C =29.07 [ps/ch]

A1 zlae+ud [ 25
= po 4206+ 0.0
pl -34.4 + 0.0

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

“nuiL s /e+u4 [ 25
- pO 4234+ 0.0
pL -37.39+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

~ 1 nuig149e+u4 / 25
- pO 4234+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (010,13

TinuiLgb/e+ud [ 25
- pO 4254+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (0,10,2)

TP delay [ns]

TVC(cbch) (0,10,6

1000

- i r94e+04 [ 25
- pO 4236+ 0.0
[ pl -36.83+ 0.00

A7 1nun z4ue+04 / 25
__ po 4215+ 0.0
L pl -34.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

Tz pzze+u4 | 25
=, po 4255+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0.10,14

1000

T 1yae+ud /25
- pD 4263+ 0.0
L pl -37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT 1 nuiLuse+ud [ 25
o po 4230+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

-1 nun BBse+u4 / 25
- pO 4259+ 0.0
-37.3+ 0.0

50 1(;0
TP delay [ns]

TVC(cbch) (o, 10 1

-1 nuiLyuae+ud [ 25
- pO 4251% 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

Tinai ryle+ud [ 25
= pO 4257+ 0.0
p1 -37.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

X~ 1w 4o/e+U4 /25

_—- po 4158 + 0.0
p1 -34.72:+ 0.00

TP delay [ns]

TVC(cbch) (0,11,4

- 1L 297e+04 | 25
™, pO 4165+ 0.0
pl -34.13+ 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

©1nuiLysve+u4 / 25
= po 4188+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 12

K™ 1 nuiLou/e+ud /25
- po 4214+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

A1 nuiLayse+ud [ 25
- po 4162+ 0.0
pl -35.29 + 0.00

TP delay [ns]

TVC(cbch) (0,11,5

-1 nui 331e+04 / 25
e, pO 4191% 0.0
pL -34.92:+ 0.00

TP delay [ns]

TVC(eh.eh)=(0, 11, 9

1 nup.4nbe+u4 [ 25
= po 4210+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(cbch) (0,11,13

~ 1 nuiLbupe+ud / 25
== pO 4206+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

1 nui buse+ud [ 25

__— pO 4176+ 0.0
- pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

=1 nurLb49e+04 / 25
- pO 4213+ 0.0
3 pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1 nuiz.4une+04 [ 25
bese, po 4199+ 0.0
o pl -34.38+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

X~ 1w p3ze+ud [ 25
pee. po 4218+ 0.0
L p1 -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT 1nuiL,(14e+U4 [ 25
poes, po 4185+ 0.0
p1 -35.11 + 0.00

TP delay [ns]

TVC(cbch) (0,11,7

- 1nui4nle+u4 / 25
e, pO 4197+ 0.0
p1 -34.27+ 0.00

[ C =29.18 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- T nuiz.usse+ud [ 25
= po 4215+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (0,11,15

T inaiarye+ud [ 25
= pO 4211+ 0.0
-34.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T Lave+ud /25
.. pO 4209+ 0.0
pl -35.48+ 0.00

TP delay [ns]

TVC(cbch) (0,124

- Ly /ge+ud / 25
pO 4218+ 0.0
pl -37.87:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 12 8

T nuzgg1e+u4 / 25
= po 4205+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (0,12, 12

~rnuiLgu4e+u4 [ 25
= po 4221+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

A7 L4ze+ud | 25
P, po 4218+ 0.0
pL -37.76+ 0.00

TP delay [ns]

TVC(cbch) (0,125

-1 i uBBe+u4 / 25
e pO 4209+ 0.0
pL -37.32:+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

1 nu.bUBe+U4 | 25
= po 4225+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (012,13

T nuiLysye+ud / 25
- pO 4222+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (0,12,2)

K™ 1nuia4ze+04 /25
_- po 4214+ 0.0
o pl -36.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

- i bY3e+ud / 25
- pO 4214+ 0.0
[ pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

©1nuig.zyde+u4 | 25
. po 4239+ 0.0
- pl -36.51+ 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

~ 1L bo5e+U4 / 25
- pD 4229+ 0.0
[ p1 -35.85+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT rnuiLozie+ud [ 25
- po 4238+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

-1 nui blbe+ud / 25
- pO 4241+ 0.0
pL -37.31% 0.00

50 100
TP delay [ns]

TVC(eb.eh)=(0, 12, 11

Tonanz1/e+04 /25
= po 4250+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T inai/14e+04 /25
- po 4229+ 0.0
p1 -36.34+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(CbCh) (o, 13 0)

-1 nug191e+04 [ 25
4217+ 0.0
p1 -36.06 + 0.00

TP delay

TVC(Cbch) (o, 13 4

= pO

[ns]

T rnuzuzie+ud | 25
4236+ 0.0
-37.1+ 0.0

5(') 10'0 =
TP delay [ns]
TVC(c,b, ch) (0o, 13 8)
T s11e+ud /25
e pO 4263:‘
-34.55+ 0.00
[ C=28.94[ps/ich] ™, 1

TVC(chh) (0,13,1)

4000 [ po

A1z sube+ud [ 25
4215+ 0.0
-37+ 0.0

pl

3000

2000

1000

TP delay

TVC(c,b Ch) (0, 13 5

4000 [ pO

pl

[ns]

- 11 430e+04 / 25
4239+ 0.0
-37.14 % 0.00

3000

2000

1000~ C

50 150
TP delay

TVC(eb.oh)=(0, 13,9

4000 e DO

[ns]

T nuig13ve+u4 / 25
4286+ 0.0
-34.56 + 0.00

3000

2000

1000 C = 28.93 [pS/Ch]

50

1
100

50

1
100

TP delay [ns]

TVC(Cbch) (o, 13 12

S, wzeﬂm 125
20005 pO 4252+ 0.0
pl -34.58 + 0.00
3000 = 71
2000 |- 7
oo C = 28.92 [ps/ch] ]
-
-
-
P T S S T
50 100

TP delay [ns]

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (0, 13 13

Tinu rz3e+ud [ 25
4253+ 0.0
-35.91+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(CbCh) (0,13,2)

- po

X~ 1wz 18ze+04 [ 25
4221 0.0
p1 -35.64 + 0.00

TP delay

TVC(Cbch) (o, 13 6

[ns]

T, z34e+04 | 25
4261+ 0.0
pl -37.34+ 0.00

P~ b
F C = 26.78 [ps/ch .
= 100 i
TP delay [ns]

TVC(cbch) (0, 13 10

: )
11y 2uze+04 | 25
- po 4305+ 0.0
I p1 -34.84+ 0,00
- C =28.70 [ps/ch]™, 1

50

1
100

TP delay [ns]

TVC(CbCh) (o, 13 14

4000

3000
2000

1000

~ i zode+ud [ 25
- pD 4251+ 0.0
N p1 -35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

e po

A1z bove+ud [ 25
4240+ 0.0
p1 -37.33+ 0.00

TP delay

TVC(c,b Ch) (0, 13 7

- pO

[ns]

- 11U 4n5e+04 / 25
4252+ 0.0
p1 -36.66+ 0.00

50 160
TP delay

TVC(Cbch) (0, 13 11

- pO

[ns]

<1 nuig.ysbe+ud / 25
4304+ 0.0
pl -35.84+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 15

-1z 5oYe+ud [ 25
e, pO 4269+ 0.0
p1 -36.7 £ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

1 nui buse+u4 / 25

_—- pO 4182+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (0,144

T bz1e+u4 / 25

e, pO 4204+ 0.0
p1 -34.77:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 14 8

T nuig.3yse+u4 | 25
= po 4203+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (0,14,12

T rnuiLgise+u4 / 25
= po 4225+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

AT 1 nuiLobze+ud [ 25
e, po 4196+ 0.0
p1 359+ 0.0

TP delay [ns]

TVC(c, bch) (0,145

- 11 4bbe+04 / 25
e, pO 4208+ 0.0
pL -35.01% 0.00

50 1(;0
TP delay [ns]

TVC(ebeh)=(0, 14,9

T nup.ysle+ud / 25
= po 4220+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (014,13

T nui gb3e+ud / 25
- pO 4227+ 0.0
-36.51+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(CbCh) (o, 14 2)

1 nuiLyr4e+U4 [ 25

= pO 4201+ 0.0
L pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (0.14,6

11urL.643e+04 [ 25

== pO 4207+ 0.0
[ pl -34.14 + 0.00

- C = 29.29 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 10

1 nuiz.49ve+04 | 25
o=, po 4233+ 0.0
r -36.1+ 0.0

TP delay [ns]

TVC(cbch) (0.14,14

T rgre+u4 [ 25
o=, pD 4241+ 0.0
L p1 -37.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

AT rnuiLgyre+ud [ 25
- po 4198+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

- i bg/e+u4 [ 25
- pO 4207+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(eh.ch)=(0, 14, 11

~ 1 nuiz.ugbe+ud / 25
= po 4232+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,14,15

T nui goze+ud [ 25
- po 4245+ 0.0
p1 -37.48 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

[ C =29.65 [ps/ch]

T 1y4e+u4 [ 25
.. pO 4195+ 0.0
pl -33.73+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,154

-1 nuiL4p5e+04 / 25
- pO 4210+ 0.0
pl -36.15+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 15 8

T L gz3e+U4 / 25
= po 4219+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T L gsze+u4 [ 25
= po 4231+ 0.0
-35.01+ 0.00

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (0,15,1)

X- 1 L ubae+U4 | 25
4000 .. po 4194+ 0.0
pL -33.2+ 0.0

3000 - =
2000 |- N
w00 C = 30.12 [ps/ch] - ]

TP delay [ns]

TVC(cbch) (0,155

4000 S

3000

2000

1000 [~

-1 nui b3le+u4 / 25
pO 4212+ 0.0
pL -36.44 + 0.00

TP delay [ns]

TVC(c, bch) (0, 15 9

3000

2000

1000

T nun 5 pbe+u4 [ 25
4000 em, pO 4257+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (0.15,13

4000 [

3000 -

2000

1000 |~

T inuig1ae+ud /25
pO 4221% 0.0
pl -34.86 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

T b8 /e+u4 [ 25
- pO 4218+ 0.0
[ pl -36.56 + 0.00

K™ 1 nui440e+04 /25
__ po 4217+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 15 10

T 1nuzpase+ud | 25
-, po 4276+ 0.0
- pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (0.15,14

~ 1L pgse+u4 [ 25
- pD 4218+ 0.0
L pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

AT 1 nuiL1yoe+ud [ 25
po 4212+ 0.0
p1 -34.99 + 0.00

TP delay [ns]

TVC(c, bch) (0,157

- nun 3ze+04 [ 25
- pO 4234+ 0.0
pL -36.73+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C =28.93 [ps/ch]

T onan 1 yse+ud [ 25
po 4253+ 0.0
p1 -34.57 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

T nuipule+ud / 25
= pO 4227+ 0.0
p1 -35.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

X~ 1L 49pe+U4 [ 25
[, PO 41832 0.0
pl -36.34+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,0,4

- i G1e+04 | 25
™, pO 4165+ 0.0
pl -36.09 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T, z3e+04 | 25
- PD 4189+ 0.0
pl -34.47 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

TinuiL5r4e+04 [ 25
- PO 4201+ 0.0
pl -35.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1

A~ 1 Ui 4bve+ud [ 25
- PO 4186+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O

Snun1bre+ud [ 25
F, DU 4174+ 0.0
pL -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

. Hul44u/e+u4/25
DO 4209+ 0.0
pl -34.67 + 0.00

TP delay [ns]

TVC(cbch) (1,0,13

T 1 ye+ud /25
pO 4201% 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (1,0,2)

X~ 1L go1e+U4 /25
e, po 4179+ 0.0
[ pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- i, fuae+04 | 25
- pO 4184+ 0.0
r pl -35.55 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

© 1 nuiLyy4e+u4 [ 25
- DO 4228+ 0.0
I pl -34.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

T Ly rse+u4 [ 25
4214+ 0.0
-37.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT 1 nuiLooze+u4 [ 25
= Y 4202+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

=1 nui Buse+u4 / 25
F= PO 4195+ 0.0
pL -36.42.+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

SRAL R bme+u4/25
- pO 4236+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

i z.21e+04 25
F=. pO 4207+ 0.0
pl -36.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0)

T Lose+ud /25
P pO 4176+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (11,4

T rnuiLa3/e+u4 [ 25
- pO 4176+ 0.0
p1 -35.76+ 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

T L, foge+u4 / 25
= po 4195+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(cbch) (1,1,12

T rnuiLgoze+u4 [ 25
- po 4212+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1 nuiLovoe+ud [ 25
., po 4196+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

“nui by re+u4 [ 25
4194+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

I C =29.09 [ps/ch] ]

Tnan s 3ge+u4 [ 25
4219+ 0.0
-34.38 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T nuipyse+ud / 25
pO 4204+ 0.0
pl -36.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,1,2)

A7 nun ssse+u4 /25
- po 4196+ 0.0
o pl -35.39+ 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

- i bzge+u4 [ 25
- pO 4203+ 0.0
[ pl -36.09 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 1, 10

- C = 28.99 [ps/ch]

Tz 1z3e+04 | 25
-, po 4227+ 0.0
- pl -34.49 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,1,14

T rse+u4 [ 25
= pD 4214+ 0.0
+ pl -36.89 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3)

x- 1w 1aerud /25
P, po 4203+ 0.0
pL -35.04+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

- 1nui b3/e+u4 / 25
4203+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

1)
-1 nuiL pybe+u4 / 25
- po 4230+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

Tinaiarze+ud 25
- pO 4204+ 0.0
p1 -35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0)

T 1sye+ud /25
. pO 4195+ 0.0
pl -36.74+ 0.00

TP delay [ns]

TVC(cbch) (1,24

- i 488e+u4 / 25
e, pO 4214+ 0.0
p1 -35.94  0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1,2,8

T 1L gse+ud /25
= po 4197+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (1,212

©rnuiLguze+u4 / 25
= po 4240+ 0.0
pl -36.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

x- 1L dzoe+ud | 25
., po 4196 + 0.0
pL -35.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nui bz4e+04 [ 25
pO 4232+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nug.guse+ud / 25
po 4219+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (1,213

Tinuig1se+ud [ 25
pO 4239+ 0.0
pl -37.29+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

TVC(cbch) (1,2,2)

AT 1nunzsse+ud /25
__- po 4209+ 0.0
- pl -35.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

- 1 nurLbyye+u4 / 25
- pO 4240+ 0.0
[ pl -36.03+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1000

Tnun1yse+u4 /25
o=, po 4229+ 0.0
I pl -35.22+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,2 14

1000

T rnuizuzie+u4 | 25
-, pD 4240+ 0.0
L pl -36.27 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT L3 re+ud [ 25
- po 4203+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

=1 nui bube+u4 / 25
- pO 4237+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 2

T aube+u4/25
= pO 4251% 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(C, bch) (1,215

-1 nuiysye+ud / 25
= pO 4236+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

K™ nui rooe+U4 /25
4207+ 0.0
-37.29+ 0.00

TP delay [ns]

TVC(cbch) (1,34

- 1 ba4e+04 / 25
[, PO 4200+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T rnuiLg/1e+u4 /25
- po 4230+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (1,312

T rnuiLb31e+u4 / 25
- po 4194+ 0.0
pl -33.45+ 0.00

[ C =29.90 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

- po

AT rnuLoLe+ud [ 25
4207+ 0.0
-35.89 + 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

~ /Ui broe+u4d / 25
E pO 4231% 0.0
pL -38.51% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 3,9

T nuig 130e+u4 / 25
- pO 4248+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (1,3,13

-1 nuiL byse+ud 25
feee. 4196+ 0.0
-33.56 + 0.00

[ C=29.79 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

- po

pl

K™ 1 nuibsye+ud / 25
4210+ 0.0
-36.18 + 0.00

TP delay [ns]

TVC(cbch) (1,36

“rnuiLb4a/e+V4 [ 25
3 pO 4232+ 0.0
[ pl -38.35+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1 nuiLpu4e+ud [ 25
. po 4270+ 0.0
- pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (1,3 14

Sruae “s40.4125
-, pD 4189+ 0.0
L p1 -33.47 £ 0.00

- C = 29.88 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

o=, po

p1

AT 1L bsse+ud [ 25
4225+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

“rnuan 1bze+u4 [ 25
- pO 4237+ 0.0
pL -37.97+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T b‘J/e+U4/25
- po 4253+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (1,315

-1 nui boye+ud / 25
= pO 4199+ 0.0
-34.14+ 0.00

[ C=29.29 [ps/ch]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

A7 nuissae+04 /25
4221+ 0.0
-38.41+ 0.00

TP delay [ns]

TVC(cbch) (14,4

-1 nuiL443e+04 / 25
[, PO 4203+ 0.0
pl -35.08 + 0.00

50 10‘0
TP delay [ns]

TVC(eb.oh)=(1, 4,8

T rnuiz4r9e+04 | 25
- pO 4243+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (1,4,12

T 1 gye+ud /25
= po 4209+ 0.0
pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT rnunL rsse+ud [ 25
F po 4225+ 0.0
pl -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= nuiL7z/e+0d [ 25
== po 4218+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

T nun.p4/e+04 /25
- po 4270+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (1,4,13

T inai roae+ud [ 25
— pO 4218+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

AT nun szse+u4 /25
_l' - po 4228+ 0.0
o pl -38.12+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,4,6

- i bs4e+u4 / 25
- pO 4222+ 0.0
[ pl -36.58+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

© 1z, (4pe+u4 | 25
- po 4291+ 0.0
- pl -37.48 + 0.00

TP delay [ns]

TVC(cbch) (1,4,14

~ 1 nuiL4y4e+04 [ 25
- pD 4221+ 0.0
L p1 -35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

e po

p1

AT 1L bsse+ud [ 25
4229+ 0.0
-37.77 + 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

Fo=. pO
pl

-1 nui b3le+u4 / 25
4228+ 0.0
-35.84+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= pO
pL

1)
TnuiLyl/e+ud /25
4278+ 0.0
-36.45+ 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

= po

p1

Tinuiz1zie+ud /25
4213+ 0.0
-36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0)

T Lsie+ud /25
- pO 4192+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (1,54

-1 ba1e+04 / 25
o, pO 4225+ 0.0
pl -36.08:+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (1, 5 8

1z, Zgoe+u4 | 25
PD 4236+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(cbch) (1,5,12

~1nuizuave+ud | 25
pO 4253+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

A1 nuaiL43se+ud [ 25
Frase po 4197+ 0.0
pl -35.54+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

- nun baze+u4d [ 25
pO 4226+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

~ 1 nuw.sg4e+U4 [ 25
- po 4260+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (1,5,13

T inuz1u1e+ud / 25
- pO 4249+ 0.0
p1 -35.9+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (1,5,2)

A7 1 nui440e+04 /25
Freee po 4201+ 0.0
L pl -35.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,56

=i, 7gye+ud / 25
- pO 4243+ 0.0
[ pl -36.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 5 10

1000

0

© 1 nuig.uyge+u4 | 25
- po 4274+ 0.0
- pl -37.03 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,5,14

T g1se+u4 [ 25
- pD 4247+ 0.0
| pl -35.62+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

[ C=28.43 [ps/ch

AT 1L yzse+ud [ 25
= po 4210+ 0.0
pl -35.17 + 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

-1 nui b3le+u4 / 25
- pO 4244+ 0.0
pL -35.67+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

T 5a4e+u4/25
- po 4282+ 0.0
-37+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,5,15

<1 nui bzoe+ud [ 25
- pO 4258+ 0.0
p1 -35.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

r9ze+U4 /25
4193+ 0.0
-37.2+ 0.0

B oo
pl
I C =26.88 [ps/c
51‘) 100

TP delay [ns]

TVC(cbch) (1,64

- 1nuiLay3e+u4 / 25
4221+ 0.0
-36.87 + 0.00

P, pO
pl
- C -
% =
TP delay [ns]
TVC(c,b ch) (1, 6 8
e, po

©nuizusge+u4 | 25
4222+ 0.0
-34.92+ 0.00

p1

TP delay [ns]

TVC(cbch) (1,6,12

b, po
p1

T L gzze+04 [ 25
4232+ 0.0
-37.41+ 0.00

TP delay [ns]

4000

3000

2000

1000
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TVC(c,b ch) (1, 6
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pO
pl

1.be+U4/25
4218+ 0.0
-36.31+ 0.00
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TVC(c,b ch) (1 6,9

== pO

. Hm44153+u4/25
4241% 0.0
-35.33+ 0.00
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-37.57 + 0.00
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TP delay [ns]

TVC(cbch) (16,6

- PO
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-1 nur395e+04 / 25
4221+ 0.0
-35.78 + 0.00
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TVC(cbch) (1, 6 10

- 90

T rnuiLyroe+u4 [ 25
4257+ 0.0
-35.11+ 0.00
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pO
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-1 nui 340e+04 / 25
4220+ 0.0
-35.22+ 0.00

TP delay [ns]
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AL bU/e+U4/25

4247+ 0.0
-34.77 + 0.00

[ C =28.76 [ps/ch]

1
50 100
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TVC(C, bch) (1,6,15

T inuiLpo/e+ud /25
4215+ 0.0
-36.29+ 0.00

TP delay [ns]
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TVC(cbch) (1,7,0

X1 na )5437 125
E po  4186+0.0
pl _ -355%0.0

TP delay [ns]

TVC(cbch) (17,4

- i 4p3e+04 / 25
= pO 4197+ 0.0
p1 369+ 0.0

[ C=27.10[ps/c ]

50 100
TP delay [ns]

TVC(eb,oh)=(1,7,8

T 38 e+u4 [ 25
po 4220+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T rnuiLbu/e+u4 / 25
= po 4228+ 0.0
pl -35.55+ 0.00
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TVC(cbch) (1,7,1)

A~ 1 nuiLblie+ud /25
Fee,, po 4203+ 0.0
pl -36.42 = 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

= 1 nui Seve+ud / 25
== po 4196+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

T nug. r34e+04 / 25
= pO 4221+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (1,7,13

Tinuisrse+ud [ 25
= pO 4230+ 0.0
pl -36.48 + 0.00
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TVC(cbch) (1,7,2)

AT 1 nui4sse+04 /25
P, po 4196+ 0.0
L pl -35.65+ 0.00
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TP delay [ns]

TVC(cbch) (17,6

S rnun 1 g1e+u4 /25
- pO 4239+ 0.0
[ pl -37.09+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

Trnuzole+u4 [ 25
o=, po 4229+ 0.0
L pl -35.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T rnuiLgsze+u4 [ 25
- pD 4224+ 0.0
L pl -35.53+ 0.00
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-1 nuibb/e+u4 [ 25
pO 4222+ 0.0
pL -37.38+ 0.00
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TP delay [ns]

TVC(c,b ch) (1, 7

1)
T nui 45e+04 / 25
e pO 4240+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

T inuia4ze+04 /25
po 4232+ 0.0
p1 -35.74+ 0.00

[ C=27.98 [ps/ch

TP delay [ns]
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P po 4175+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (1,84

Tanun 1.72e+04 /25
pO 4214 0.0
pl -37.93+ 0.00

TP delay [ns]

TVC(cbch) (1 8,8

T 1yye+ud /25
= po 4205+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (1,812

T L pase+u4 / 25
= po 4240+ 0.0
pl -36.59 + 0.00
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pee,, po 4202+ 0.0
pl -37.17+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

=1 nuiLaupe+ud / 25
== po 4206+ 0.0
pl -37.44 % 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1 8,9

-1 naiy Zoge+ud | 25
= pO 4231+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (1,813

T nui o3ve+ud / 25
- pO 4222+ 0.0
pl -35.37+ 0.00
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TVC(cbch) (1,8,2)
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- po 4205+ 0.0
L pl -36.74+ 0.00
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50 100

TP delay [ns]

TVC(cbch) (1,86

© L4 r8e+04 [ 25
- pO 4209+ 0.0
3 pl -37.14 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

T 3zze+04 | 25
= po 4243+ 0.0
- pl -36.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,814

~ 1 nuiLpose+ud / 25
- pD 4239+ 0.0
[ p1 -37.13+ 0.00
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- po 4209+ 0.0
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TVC(c,b ch) (1 8,7

- nun by /e+u4 / 25
- pO 4210+ 0.0
pl -37.25+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T wze+u4/25
= po 4237+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(C, bch) (1,815

T nuiasse+ud [ 25
= pO 4239+ 0.0
p1 -35.93+ 0.00

TP delay [ns]



TVC(cbch)(190) TVC(cbch)(lQl) TVC(cbch)(192) TVC(cbch)(193)
AT 1w rure+ud /25 A~ 1L prse+ud | 25 A™ 11w bs4e+us [ 25 A~ 1w psve+ud [ 25
4000 e ” 00 41965 0.0 4000 e, po 4207+ 00 4000 e, po 4202+ 0.0 4000 po 4236+ 0.0
pl -36.22+ 0.00 pl -35.93+ 0.00 r pl -36.33+ 0.00 pl -38.19+ 0.00

3000

- 3000 -1 3000 -1 3000 -

2000 1 2000 =1 2000 -1 2000

1000 - 1000 -1 1000 =1 1000 [~

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,9.4) TVC(cbch) (195) TVC(cbch) (19.6) TVC(cbch) (197)
- i zgbe+u4 [ 25 -1 nui baye+u4 [ 25 -1 nuiL438e+04 [ 25 =1 nui 4ybe+u4 / 25
4000, pO 4211+ 0.0 4000 e, pO 4224+ 0.0 4000 e pO 4231+ 0.0 4000 e, pO 4235+ 0.0
pl -36.37 + 0.00 pL -36.83 + 0.00 3 pl -37.06+ 0.00 pL -36.14 + 0.00
3000 T 3000 B 3000 — — 3000 4
2000 4 2000 - 2000 — — 2000 - -
1000 - 1000 - 1000:— C =26.99 [pS/Ch — 10001 C -
0 0 0 EY 0 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (1,9,8) TVC(c,b ch) (1,9,9) TVC(c,b, ch) (1,9,10) TVC(c,b ch) (1,9,11)
TnunLobe+u4 /25 Ty bz3e+u4 [ 25 © 1 nuzoYse+ud / 25 T gz re+u4 [ 25
4000 e pO 4182+ 0.0 4000 pO 42144 0.0 e DO 42312 0.0 4000 P, 4224+ 0.0
pl -34.04+ 0.00 pL -34.75+ 0.00 [ pl -35.69 + 0.00 -34.23+ 0.00
3000 [~ B 3000 B 3000 ' 3000 -
2000 - 2000 — 2000 . 2000 [ e

] 1000 1000}

w00 C = 29.37 [ps/ch] lo00r C = 29.22 [ps/ch] ]

1 1
0 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(lQl ) TVC(cbch)(1913) TVC(cbch)(191 ) TVC(cbch)(1915)
T, (0se+u4 / 25 T obse+u4 / 25 ~ i oo0e+u4 / 25 T 1 43e+04 /25
e pO 4208+ 0.0 4000 [ 4197 0.0 4000 PD 4202+ 0.0 4000, 4211 00
pl -34.87 + 0.00 -34.26 + 0.00 : pl -35.43+ 0.00 -34.38 + 0.00
3000 N 3000 [ 1 3000 ' 3000 [ B
2000 B 2000 - 2000 ' 2000 E

1000 1000

1o C = 29.19 [ps/ch] ] oo C = 29.08 [ps/ch] §

PR U S S |
50 100

PR I S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC(CbCh) (1, 10 0)

1 nu szze+U4 [ 25

pl -35.98+ 0.00

4199+ 0.0

TP delay [ns]

TVC(cbch) (1,104

pO

- 1L 304e+04 / 25

pL

4187+ 0.0
-34.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

1 nuzpope+u4 | 25
= pO 4231+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

© i 5z9e+u4 [ 25
= po 4225+ 0.0
p1 34+ 0.0

[ C =29.41 [ps/ch]
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AT rnuiLiroe+ud [ 25
o=, po 4215+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

1 421e+04 1 25

4187+ 0.0
pl -35.22 + 0.00

TP delay [ns]

TVC(c, bch) (1, 10 9

Tonun381e+u4 /25
= po 4237+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (110,13

TinuiLar/e+ud [ 25
pO 4230+ 0.0
pl -33.06 + 0.00

[ C=230.25[ps/ch] ™ 7
s *
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AT 1 nuiL1soe+ud [ 25
po 4199+ 0.0
pl -34.71% 0.00
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TP delay [ns]

TVC(cbch) (1,10,6

pD

- 1nuiL393e+04 / 25

TVC(c, bch) (1,10,7

4000

p1

4206+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

T zuge+u4 /25
= po 4253+ 0.0
- pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (110,14

T 43e+04 / 25
- pD 4230+ 0.0
L pl -35.01+ 0.00
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1000

-1 nui gyoe+u4 / 25
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-38.4+ 0.0
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100

TP delay [ns]

TVC(cbch) (1,10,15

4000 [Gu.

3000 =

2000 [~

100r C = 29.61 [ps/ch] ]

T nuioble+ud [ 25
4214+ 0.0
-33.78 + 0.00

50

1
100

TP delay [ns]
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TVC(CbCh) (1,11,0)

K™ nuinsze+u4 /25
o= po 4202+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (1,114

= 1 i bube+ud / 25
- pO 4206+ 0.0
pl -35.91+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(L, 11,8

T, 3z1e+04 / 25
= po 4229+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (111,12

T, r1ve+u4 / 25
pO 4242+ 0.0
pl -36.15+ 0.00
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AT rnunLsse+ud [ 25
.. po 4212+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (1,11,5

- nui r48e+04 [ 25
- pO 4203 0.0
pL -36.15+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 9

-1y 189e+u4 [ 25
= po 4256+ 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

Tinai rsze+ud [ 25
pO 4240+ 0.0
pl -36.67 + 0.00
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TP delay [ns]
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1000

-1 i bY4e+04 / 25
- pO 4222+ 0.0
[ pl -36.22+ 0.00

TP delay [ns]

TVC(e.b,eh)=(1, 11, 10
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0

X7 1 nuizszoe+04 / 25
= po 4273+ 0.0
- pl -37+ 0.0

TP delay [ns]

TVC(cbch) (1,11,14)

T L pye+ud /25
- pD 4237+ 0.0
[ p1 -37.42+ 0.00
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AT rnuiLbyre+ud [ 25
- po 4229+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (1,11,7

-1 nui b3ye+u4 / 25
- pO 4232+ 0.0
-36.1% 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

T nuiz.zuoe+u4 25
- po 4277+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(cbch) (111,15

T inuiLoroe+ud [ 25
e po 4246+ 0.0
p1 -37.6+ 0.0

TP delay [ns]
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TVC(CbCh) (1, 12 0)

© 1 nuiL4uoe+u4 / 25
P pO 4156+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (1,124

-1 nun395e+04 / 25
- pO 4173 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 12,8

1 nuiLgE8e+U4 / 25
4198+ 0.0
-35.7+ 0.0

1
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TP delay [ns]

TVC(cbch) (1,12,12

~nuiLpose+u4 / 25
pO 4195+ 0.0
pl -35.03+ 0.00
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peoe.. po 4165+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (1,125

- nun bz1e+u4 / 25
4186+ 0.0
-35.6 + 0.0

50 1(;0
TP delay [ns]

TVCEbeh)=( 1, 12,9

~ 1 nug ngYe+ud 25
= 4204 0.0
-34.38 + 0.00

[ C =29.08 [ps/ch] ]

1
50 100

TP delay [ns]
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- T 1 nuiLp4oe+ud / 25
- pO 4193+ 0.0
pl -35.96 + 0.00
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- po 4175+ 0.0
L p1 -34.99 + 0.00
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TVC(cbch) (1126

T nuiL447e+04 | 25
e pO 4185+ 0.0
F pl -35.42 + 0.00

TP delay [ns]

TVC(e b eh)=( 1, 12, 10

T z.z29e+04 /25
= po 4225+ 0.0
- pl -35.64 + 0.00
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T 1L pz3e+u4 | 25
pD 4210+ 0.0
pl -36.28+ 0.00
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- po 4181+ 0.0
pl -34.51+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

=1 nui 2yge+u4 / 25
- pO 4199+ 0.0
pL -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

-1 nuiagse+ud [ 25
= pO 4217+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- T inuiLoo/e+ud [ 25
4197+ 0.0
-35.31+ 0.00

TP delay [ns]
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TVC(CbCh) (1,13,0)

X~ 1 g 458e+04 [ 25
po 4206+ 0.0
pl -37.62+ 0.00

TP delay [ns]

TVC(cbch) (1,134

- B31e+ud / 25
pO 4212 0.0
pl -35.32:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

T L, r84e+04 | 25
= po 4196+ 0.0
pl -34.35+ 0.00

TP delay [ns]
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T L ysze+u4 | 25
= po 4254+ 0.0
pl -36.67 + 0.00
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AT 1 nug.yuse+ud [ 25
- po 4206+ 0.0
pl -37.04+ 0.00

TP delay [ns]

TVC(c, bch) (1,135

~rnuLy3/e+u4 / 25
pO 4226+ 0.0
pL -35.69+ 0.00

TP delay [ns]

TVCEbeh)=( 1, 13,9

Tinugzr3e+u4 [ 25
po 4254+ 0.0
p1 -34.84 + 0.00

TP delay [ns]

TVC(cbch) (113,13

~ 1 nuiL gboe+ud / 25
- pO 4256+ 0.0
pl -37.02+ 0.00
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TP delay [ns]

TVC(cbch) (1,136

-1 Ui Babe+u4 / 25
pO 4235+ 0.0
363+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (1, 13 10

T nuzprge+ud | 25
po 4266+ 0.0
pl -36.47 + 0.00
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pD 4239+ 0.0
pl -36.25+ 0.00
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TVC(Cbch) (1,13,3)
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2000

1000

AT 1 nuir.usse+u4 / 25
4000 =, po 4229+ 0.0
pL -36.41+ 0.00

TP delay [ns]

TVC(c, bch) (1,137

4000 |G

3000

2000

w0 C = 27.43 [ps/ch ]

“nug123e+04 / 25
pO 4241+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(eheh)=(1, 13, 11

4000 [us.

3000

2000

1000

~ 1 nuiz.u4ze+u4 [ 25
pO 4260+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (1,13,15

4000 [,

3000

2000

1000

Tonai g r3e+u4 /25
pO 4259+ 0.0
p1 -37.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (1, 14 0)

s, pO

pl

© i zope+u4 [ 25
4202+ 0.0
-36.9+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 14 4

- i a81e+04 / 25
4180+ 0.0
-35.96 + 0.00

b, pO
pL
3000 [ ]
2000 = 7
1000 C ]
0 = 00 -
TP delay [ns]
TVC(c,b, ch) (1, 14 8)
© 1 nu.484e+04 / 25
4000 o, pO 4174+ 0.0
p1 -33.31 0.00
3000 - 7
2000 = 71
wor C =30.02 [ps/ch] ™, 7]
1 1 -
0 50 100

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (1, 14 12

E pO

p1

~ 1L pLye+ud / 25
4262+ 0.0
-37.04+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

. po

AT nuiL$35e+U4 [ 25
4196+ 0.0
-36.26 + 0.00

pl

TP delay [ns]

TVC(c,b Ch) (1, 14 5

- nui blve+u4d [ 25
4193+ 0.0
-37.28 + 0.00

TP delay [ns]

TVCEebeh)=(1, 14,9

== pO

pl

T nun.4/3e+04 /25
4201+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 14 13

T nuiL oye+ud [ 25
4256+ 0.0
-37.53+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,14,2)

- PO

A~ nui s40e+04 25
4214+ 0.0
p1 -36.83+ 0.00

1
50 100

TP delay

TVC(c,b ch) (1, 14 6

pO
p1

[ns]

T w1 48e+04 /25
4177+ 0.0
-36.66 + 0.00

TP delay

TVC(Ee b eh)=( 1, 14,10

pO
pl

[ns]

-1 nu zobe+u4 [ 25
4225+ 0.0
-34.96 + 0.00

TP delay

TVC(c,b Ch) (1, 14 14

- PD

[ns]

- 1 syde+u4 [ 25
4263+ 0.0
p1 -37.13+ 0.00

TP delay

[ns]

TVC(Cbch) (1,14,3)

4000 fou po

A~ 1 nuiL 190e+U4 / 25
4232+ 0.0
pL -37.21+ 0.00

3000

2000

1000

TP delay

TVC(c,b Ch) (1, 14 7

4000 o pO

[ns]

-1 nui b3ve+u4 / 25
4201+ 0.0
p1 -36.33+ 0.00

3000

2000 -

1000 C

50 160
TP delay

TVC(ehch)=(1, 14, 11

4000 pO

[ns]

Tinair4/e+04 /25
4215+ 0.0
-34.4+ 0.0

3000 -

2000 =

woF C = 29.07 [ps/ch]

1
50 00

TP delay

TVC(c,b ch) (1, 14 15

4000 [, PO

[ns]

S s re+ud [ 25
4257+ 0.0
p1 -36.72+ 0.00

3000

2000

1000

TP delay

[ns]
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1000

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,15,0)

T, roze+U4 [ 25
4207+ 0.0
-38.11 + 0.00

TP delay [ns]

TVC(cbch) (1,154

- i, r3pe+u4 / 25
- pO 4227+ 0.0
366+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

© 1L s8Ye+u4 / 25
[ pO 4227+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12

~1nuiLyvae+u4 / 25
- PO 4235+ 0.0
pl -35.51+ 0.00

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,15,1)

", po

AT 1 muiLbroe+ud /25
4210+ 0.0
-37.42+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,15,5

PSRl

= O

142e+04 1 25
4230+ 0.0
-36.33+ 0.00

TP delay [ns]

TVC(c, bch) (1, 15 9

== pO

pl

T nug. r38e+u4 / 25
4261+ 0.0
-36.47 + 0.00

TP delay [ns]

TVC(cbch) (115,13

~ 1 nuiL ube+ud / 25
4231+ 0.0
-35.55+ 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,15,2)

TP delay [ns]

TVC(cbch) (1,156

X~ 1L byle+U4 /25
F po 4230 0.0
3 pl 3832+ 0.00

3000

- i, r8oe+u4 / 25
- pO 4232+ 0.0
3 pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

T zoge+u4 [ 25
= DO 4274+ 0.0
3 pl -37.26 + 0.00

TP delay [ns]

TVC(cbch) (115,14

T, (zze+04 [ 25
- PD 4239+ 0.0
I pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (1,15,3)

X- 1 L (4ae+U4 | 25
4219+ 0.0
pL -36.93+ 0.00

4000 [Su.

po

3000

2000

1000

TP delay

TVC(c, bch) (1,157

4000 fam pO

[ns]

-1 nui ylve+u4d / 25
4233+ 0.0
pl -35.42 % 0.00

3000

2000 -

wol C = 28.24 [ps/ch

TP delay

TVC(cbch) (1,15 11

4000 pO

pl

[ns]

-1 nuiz.yuoe+u4 / 25
4292+ 0.0
-36.44 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (1,15,15

4000 ey

[ns]

T bzoe+u4 [ 25
4237+ 0.0
pl -35.34 + 0.00

3000

2000

1000

TP delay

[ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,0

A~ 1 nuio1ae+04 / 25
Fre po 4208+ 0.0
p1 -37.7+ 0.0

I C =26.53 [ps/c ]

50 100

TP delay [ns]

TVC(cbch) (2,0,4

Srnu 13e+U5 /25
Facee po 4193+ 0.0
pl -34.83+ 0.00

50 5
TP delay [ns]

TVC(cbch) (2 0,8

-z one+Ud 1 25
- po 4189+ 0.0
p1 -35.09+ 0.00

TP delay [ns]

TVC(cbch) (2,0,12

1 i yoye+u4 / 25
= po 4207+ 0.0
pl -34.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,01

AT 1 nuiLBzoe+u4 [ 25
Frase po 4222+ 0.0
pl -37.54+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

= nun 1734e+U5 /25
Fucse po 4195+ 0.0
pl -34.51+ 0.00

[ C =28.98 [ps/ch]

50 150
TP delay [ns]

TVC(c,b ch) (2 0,9

- Zo1e+U4 | 25
- pO 4201 0.0
pL -35.92:+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, O 13

T nui s3se+ud [ 25
pO 4223+ 0.0
pl -35.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,0,2)

X~ 1 rore+U4 /25
_l'_ po 4215+ 0.0
[ p1 -36.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,0,6

1000

T rnuiLzze+U5/ 25
- pO 4214+ 0.0
[ p1 -35.46 + 0.00

TP delay [ns]

TVC(eb,oh)=(2, 0, 10

1000

0

- nuiz.04e+04 | 25
B po 4228+ 0.0
[ p1 -36.44 + 0.00

TP delay [ns]

TVC(cbch) (2,0,14

©1nuiLy4se+u4 | 25
- pD 4220+ 0.0
L pl -35.17 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (2,0,3

A1 Base+Ud | 25
P, po 4209+ 0.0
pL -36.37+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

“ 1246405 1 25
- pO 4213+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(c,b ch) (2, O

T aq/e+u4/25
= po 4237+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (2, O 15

-1z 144e+04 [ 25
= pO 4207+ 0.0
p1 -34.66 + 0.00

TP delay [ns]
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TVC(cbch) (2,1,0)

T g0ae+04 /25
4223+ 0.0
-40.38 + 0.00

=
50 100

TP delay [ns]

TVC(cbch) (21,4

-1 i bsze+ud [ 25
4180+ 0.0
-35.4+ 0.0

1
50 100

TP delay [ns]

TVC(ebeh)=(2, 1,8

pO
p1

- rnu 3r3e+u4 [ 25
4218+ 0.0
-36.92+ 0.00

TP delay [ns]

TVC(cbch) (21,12
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p1

- 1 i pose+u4 / 25
4207+ 0.0
-35.05+ 0.00

TP delay [ns]
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TVC(cbch) (2,1,1)

ro1e+u4 /25
4217+ 0.0
-39.16 + 0.00

A,

- PO
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TP delay [ns]

TVC(c,b ch) (2 1,5

“nun 1 pbe+ud [ 25
4195+ 0.0
-35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (21,9

o= pO

~ 1 nug 130e+u4 / 25
4244+ 0.0
-37.2+ 0.0

TP delay [ns]

TVC(c,b Ch) (2,1,13

Ao,

(Ube+u4 [ 25
4229+ 0.0
-36.58 + 0.00

TP delay [ns]
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1000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

- P
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A1 nugoole+ud /25
4223+ 0.0
-37.97 + 0.00

1 LY
50 100
TP delay [ns]
TVC(cbch) (2 1,6)
~ 1 nuiL Boble+u4 / 25
Foeee pO 4200+ 0.0
L pl -35.88+ 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

-~ b

T 1L baze+u4 | 25
4245+ 0.0
-35.97 + 0.00

pl

TP delay [ns]

TVC(cbch) (21,14

- i gz e+04 [ 25
4223+ 0.0
-36.34 £ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (2,1,3)

- PO

A1 nuis.Yse+ud [ 25
4230+ 0.0
pL -37.99+ 0.00

TP delay

TVC(c,b ch) (2 1,7

pO
pl

[ns]

- nui grye+u4d / 25
4199+ 0.0
-35.79+ 0.00

50 100
TP delay

TVC(c,b ch) (2,1,

= pO

[ns]

SRR bbbe+l}4/25
4250+ 0.0
-36.7 £ 0.0

1
50 00

TP delay

TVC(c,b ch) (2, 1 15

[ns]

- i y3be+ud [ 25
4206+ 0.0
p1 -35.99 + 0.00

TP delay

[ns]
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1000
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2000

1000

TVC(cbch) (2,2,0)

r1ve+u4 /25
4177+ 0.0
-35.15+ 0.00

A1,

' po
pl

TP delay [ns]

TVC(cbch) (2,24

RRALTUR

P, PO
pL

blbe+u4 / 25
4199+ 0.0
-37.36+ 0.00

TP delay [ns]

TVC(ebch)=(2,2,8

B pD

1 nuiLyoye+u4 | 25
4191+ 0.0
-35.32+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

TrnuiLbr1e+u4 /25
4237+ 0.0
-37.18+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000
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1000

TVC(cbch) (2,2,1)

13ve+U4 [ 25
4189+ 0.0
-36.33+ 0.00

A,

=, po

pl

TP delay [ns]

TVC(c,b ch) (2 2,5

- i b13e+u4 / 25
4184+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

~ 1 nug ogze+ud / 25
4235+ 0.0
-35.59 + 0.00

TP delay [ns]

TVC(cbch) (2,213

~inuiLpy/e+ud [ 25
4223+ 0.0
-36.32+ 0.00

TP delay [ns]
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1000
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1000
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1000

TVC(cbch) (2,2,2)

™, po

K™ 1 nuiLguse+ud / 25
4194+ 0.0
-36.8+ 0.0

pl

TP delay

TVC(cbch) (2,2,6

pO
p1

[ns]

-1 nurbbye+ud / 25
4199+ 0.0
-37.13+ 0.00

TP delay

TVC(ebeh)=(2,2, 10

= 90

[ns]

T nuzgo3e+u4 | 25
4229+ 0.0
pl -36.12+ 0.00

TP delay

TVC(cbch) (2,214

AW

- pD

[ns]

- be+u4 /25
4229+ 0.0
pl -37.04 + 0.00

TP delay

[ns]
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1000
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1000

TVC(cbch) (2,2,3)

Boyve+u4 / 25
4206+ 0.0
-37.68+ 0.00

A

- PO
p1

TP delay [ns]

TVC(c,b ch) (2 2,7

g,
pO
pl

184e+04 | 25
4202+ 0.0
-37.02+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2,2,

X~ g,

= po

pl

/aze+u4 125
4221+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(C, bch) (2,215

T nuip4ye+ud [ 25
4223+ 0.0
-35.79+ 0.00

TP delay [ns]
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1000
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2000

1000

0
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3000

2000

1000

TVC(cbch) (2,3,0

A7 nui osse+ud / 25
.. po 4208+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (23,4

T b roe+ud / 25
e, pO 4209+ 0.0
pl -36.66+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

Tz 2use+u4 | 25
= po 4227+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (2,312

©riuiLgyve+u4 / 25
= po 4230+ 0.0
pl -34.89+ 0.00

TP delay [ns]
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1000
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1000
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1000

4000
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1000

TVC(cbch) (2,31

A7 1 nuiLbooe+ud /25
o=, po 4215+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

-1 nui bole+ud [ 25
e, pO 4198+ 0.0
pL -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

Tinug1zie+u4 /25
= po 4258+ 0.0
p1 -37.64.+ 0.00

TP delay [ns]

TVC(cbch) (2,313

Tonai rg/e+ud [ 25
= pO 4228+ 0.0
pl -34.87 + 0.00

TP delay [ns]
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1000

4000
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1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (2,3,2)

A™ 1 nuioise+ud /25
- po 4211+ 0.0
L pl -36.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

T L4 4e+04 | 25
- pO 4219+ 0.0
- pl -35.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (2, 3 10

1000

T nuzpzoe+u4 | 25
. po 4270+ 0.0
- pl -36.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,3 14

rnue oy re+ud /25
4228+ 0.0
-34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000
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1000
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1000

4000
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1000

TVC(cbch) (2,33

AT rnuiL4ure+ud [ 25
- po 4209+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

-1 nui buze+u4 / 25
- pO 4198+ 0.0
pL -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T, 1/5e+u4/25
- po 4259+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(C, bch) (2,315

T nui b3ye+ud [ 25
- po 4229+ 0.0
p1 -36.07 + 0.00

TP delay [ns]



TVC(ehet)=(2,4,0) TVC(ehe)=(2,4,1) TVC(ehe)=(2,4,2) TVC(ehe)=(2,4,3)
A1 nsse+ud /25 A~ 1L plse+ud / 25 A~ 11w bl4e+ud [ 25 A~ 1 psse+ud | 25
4000 fme, po 4206+ 0.0 4000 [, po 4191+ 0.0 4000 e, po 4199+ 0.0 4000 fe, po 4221+ 0.0
Pl 3507+ 0.00 pl -34.61+ 0.00 [ Pl -35.42% 0.00 Pl -36.45: 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 E 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,47

- by1e+ud / 25 ~ g as1e+ud [ 25 - L, 7uge+ud [ 25 - nu /31e+04 / 25
4000 pO 4210+ 0.0 4000 e, pO 4219+ 0.0 4000 e, pO 4230+ 0.0 4000 e, pO 4227+ 0.0
pl -35.94  0.00 pL -35.98 + 0.00 3 pl -36.92:+ 0.00 pL -36.42 + 0.00

3000~ 1 3000 - 3000 [~ B 3000 1

2000 - — 2000 - 2000~ - 2000 4

10001~ C E 1000 - 1000 r C=27.09 [pS/Ch ] 1000 C -

-- I -- 1 --
1 ' o 1 - 0 1 [
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

© i, ryze+u4 [ 25 T 4.9ze+04 /25 © 1 nuz.4pze+04 [ 25 T 9a4e+u4/25
4000 pO 4246+ 0.0 4000 pO 4260+ 0.0 4000 [, DO 4277+ 00 4000, p0 4282+ 0.0
pl 3844000 Pl -37.47% 0.00 [ PL_ -37.34% 0.00 Pl -37.69+ 0.00

-1 3000

3000~ 1 3000 -1 3000 .

2000 B 2000 - 2000 — 2000 B
1000 E 1000 - 1000 E 1000 E
0, L L_=" 0 oL 0
o 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(2412) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T Lpse+ud /25 Tonun g oge+ud [ 25 T rnuiLg34e+04 / 25 71 nuiL byve+ud / 25
4000 [m, pO 42451+ 0.0 4000 pO 4230+ 0.0 4000 PD 4234+ 0.0 4000 o, pO 4238+ 0.0
pl -34.71+ 0.00 pl -35.15+ 0.00 I pl -35.22+ 0.00 pl -35.14 + 0.00

3000~

-1 3000 - 3000 - 3000 .

2000~ - 2000 -1 2000 - 2000

- 1000 [~ -1 1000 -1 1000

1000~ C = 28.81 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC(cbch) (2,5,0)

A7 1 nui zove+u4 / 25
4215+ 0.0
-35.93+ 0.00

TP delay [ns]

TVC(cbch) (2,54

P, PO
pL

- i 319e+04 / 25
4188+ 0.0
-36.48 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2 5,8

- pD

T rnuz.z40e+04 /25
4215+ 0.0
-34.58 + 0.00

p1
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

AT rnuiL4zse+ud [ 25
=, po 4213+ 0.0
p1 -34.64+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

~ o 1.40e404 [ 25
pO 4249+ 0.0
p1 -34.68+ 0.00

[ C =28.83 [ps/ch] ]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 3

T yz4e+u4/25
= pO 4251% 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(C, bch) (33,15

T nui s43e+u4 [ 25
pO 4239+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



TVC(CbCh) (3,4,0) TVC(CbCh) (3,4,1) TVC(CbCh) (3,4,2) TVC(CbCh) (3,4,3)
- K1 da1e+04 ] 25 - X 1L baze+Ud ] 25 1000 X~ 1L oa0e+04 ] 25 4000 E % i bve+ud ] 25
4000 Fam,, po 4194+ 0.0 4000 o, po 4191+ 0.0 = po 4187+ 0.0 = po 4206+ 0.0
Pl -36.83 0.00 pl  -36.36+ 0.00 F Pl -35.01% 0.00 Pl -36.98+ 0.00

3000

1 3000 -1 3000 -1 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 -1 1000

0, 0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eheh)=(3,4,4) TVC(eb.eh)=(3,4,5) TVC(ebeh)=(3,4,6) TVC(eb.eh)=(3,4,7)
- 1 i bbbe+ud / 25 “nuibz/e+u4 [ 25 T rnui ry1e+u4 / 25 - nui uge+u4 / 25
4000 pO 4228+ 0.0 4000 pO 4233+ 0.0 4000 [, pO 4242+ 0.0 4000 e, pO 4249% 0.0
Pl -36.19 0.00 Pl -36.84 0.00 3 Pl -3752% 0.00 Pl -36.08+ 0.00
3000~ - 3000 - 3000 — — 3000 g
2000 E 2000 E 2000 — — 2000 -
1000 C B 1000 C B 1000:— C =26.65 [pS/C — w000 C —
EY 00 = 0 5 o of EY 0 . 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebe)=(3,4,8) TVC(ebeh)=(3,4,9) TVC(ebeh)=(3, 4, 10) TVC(eb.o=(3, 4, 11)
T inuzyze+u4 [ 25 - 1nun, 1yge+u4 [ 25 © 1 nuzpou4e+u4 [ 25 T lple+u4 / 25
4000 e pO 4211+ 0.0 4000 4230+ 00 4000 DO 4240+ 00 4000, p0 4245+ 00
Pl -34.451 0.00 354 00 [ Pl -35.93: 0.00 Pl -35.08: 0.00

3000 - 3000 - 3000 - 3000 _

2000 -1 2000 - 2000 I 2000

- 1000 - 1000F

1000 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(34l ) TVC(cbch)(3413) TVC(cbch)(34l ) TVC(cbch)(3415)
~ 1 nuiLybse+ud / 25 T 1 goe+u4 / 25 T inuiLyiye+ud / 25 T b re+u4 [ 25
4000 e pO 4237400 o pO 4223400 4000 fem, pD 4223+ 00 4000 pO 4226+ 0.0
pl -36.61+ 0.00 pl -37.42+ 0.00 : pl -37.02+ 0.00 pl -36.25+ 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

A7 nuiouse+ud / 25
Frcea. po 4202+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (3,54

- 1 i 4p8e+04 / 25
. pO 4214+ 0.0
p1 -35.48:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 5,8

T nuig.page+u4 | 25
- pO 4240+ 0.0
pl -35.09+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

1L yobe+u4 / 25
4294+ 0.0
-36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

X~ 1 L dobe+ud | 25
I e po 4228+ 0.0
pL -35.86+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

- i brge+u4 [ 25
4204+ 0.0
-34.8+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

-1 nui vbge+ud / 25
- po 4269+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (3,5,13

T nai3se+ud [ 25
pO 4282+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

A7 1 nui ozse+u4 /25
_l po 4232+ 0.0
- pl -36.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

- 1 i boge+ud [ 25
fo, pO 4208+ 0.0
[ pl -34.48+ 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

© 1 nuzgoze+u4 | 25
- po 4284+ 0.0
[ pl -35.04 + 0.00

L C = 28.54 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

T glie+ud /25
pD 4282+ 0.0
pl -36.91+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

A~ 1 nuiLoB4e+U4 [ 25
=, po 4240+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui bgze+u4d / 25
- pO 4220+ 0.0
p1 -34.47 + 0.00

[ C =29.01 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

AN uuze+u4/25
- po 4289+ 0.0
p1 -35.14+ 0,00

[ C =28.46 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T onan 1 goe+ud [ 25
- pO 4295+ 0.0
p1 -37.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

X~ 1w 440e+04 [ 25
e po 4175+ 0.0
p1 -34.27+ 0.00

TP delay [ns]

TVC(cbch) (36,4

- i b11e+u4 / 25
- pO 4240+ 0.0
p1 -36.84 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 6,8

T, ryse+u4 | 25
- pO 4229+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

-1 i, (9se+u4 [ 25
o, po 4222+ 0.0
pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

X 1L dave+ud | 25
e, po 4187+ 0.0
pL -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

~ 1 nuiLb4se+u4 [ 25
- pO 4256+ 0.0
pl -37.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

- 5z3e+Ud ] 25
e, pO 4256+ 0.0
pL -36.34+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

<1 nuiLbyye+ud 25
pO 4234+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

A1 bzze+04 [ 25
po 4203+ 0.0
p1 -35.39+ 0.00

TP delay [ns]

TVC(cbch) (36,6

- 1 i b8be+u4 / 25
pO 4258+ 0.0
p1 -37.02 0.00

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

- nuizbibe+ud | 25
po 4250+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(cbch) (3,6,14

1 i psze+U4 [ 25
pD 4246+ 0.0
-36.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

A~ 1 nuiL5yye+u4 [ 25
- po 4192+ 0.0
pL -34.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nuibb/e+u4 [ 25
- pO 4262+ 0.0
p1 -38.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6

T, iUie+U4/25
= pO 4265+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

- i vo3e+ud [ 25
pO 4239+ 0.0
-35.74 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

A7 1 nui syae+04 /25
4196+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (37,4

- 1L 3uze+u4 / 25
4205+ 0.0
-35.6+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T z1/e+u4 /25
PD 4213+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T rnuiLb43e+04 / 25
pO 4225+ 0.0
pl -34.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AL SsevU4 | 25
e po 4201% 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nui 3gbe+u4 / 25
4194+ 0.0
-34.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T 1 nup.3obe+ud [ 25
po 4240+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (3,7,13

Tinaiarse+ud [ 25
== pO 4209+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

A~ 1nuiLorae+V4 /25
_- po 4216+ 0.0
o pl -36.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,7,6

S rnun 1 50e+04 /25
- pO 4213+ 0.0
[ pl 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

Trnuizare+u4 | 25
o=, po 4255+ 0.0
o pl -36.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,14

T i go4e+04 / 25
pD 4210+ 0.0
pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT Loy re+ud [ 25
=, po 4216+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

=1 nuiL buse+u4 / 25
- pO 4226+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

T, iUHe+U4/25
4254+ 0.0
-37.1+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,7,15

T inui sbse+ud / 25
- po 4216+ 0.0
p1 -35.54.+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

T Lore+ud /25
., pO 4219+ 0.0
pl -37.46 + 0.00

TP delay [ns]

TVC(cbch) (3,84

T3/ re+04 [ 25
pO 4222+ 0.0
p1 -35.46+ 0.00

e 4
% T
TP delay [ns]
TVC(cbch) (3 8,8

1 nuz.ggve+u4 | 25
po 4250+ 0.0
pl -38.38 + 0.00

TP delay [ns]

TVC(cbch) (3,812

T rnuiLby1e+u4 / 25
pO 4238+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT 1 nuiLozoe+ud [ 25
., po 4198+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

S i br3e+u4 [ 25
pO 4210 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

T nu.o/8e+U4 [ 25
po 4265+ 0.0
-37.7+ 0.0

TP delay [ns]

TVC(cbch) (3,8,13

T nuiLayze+ud [ 25
pO 4234+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,8,2)

T rnun Looe+ud /25
- pO 4200+ 0.0
L pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

~ 1 nuiL455e+04 [ 25
- pO 4218+ 0.0
[ pl -35.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

1z, ro9e+u4 [ 25
-, po 4272+ 0.0
- pl -38.09 + 0.00

3000

50 100

TP delay [ns]

TVC(cbch) (3,814

T bzze+04 [ 25
- pD 4232+ 0.0
[ p1 -36.48 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1L rzoe+ud [ 25
- po 4230+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

=1 nui boye+u4 / 25
- pO 4239+ 0.0
pL -36.23+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

T 559e+u4/25
4276+ 0.0
-38.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,8,15

T inai szae+u4 / 25
4242+ 0.0
-35.81+ 0.00

TP delay [ns]



TVC(c,b Ch) (3,9,0) TVC(c,b Ch) (3,9,1) TVC(c,b Ch) (3,9,2) TVC(c,b Ch) (3,9,3)
K- 1502604 ] 25 X LS L4e+Ud ] 25 K~ 1 5o0e+04 ] 25 K- 1L dUse+Ud | 25
4000 42154 0.0 4000 fmee,, po 4231+ 0.0 4000 f, po 4231 0.0 4000 fme, po 4229+ 0.0
35,6+ 0.0 pl 3611+ 0.00 L Pl -35.83+ 0.00 Pl -35.01% 0.00

3000

E 3000 - 3000 - 3000 B

2000 - 2000 = 2000 N 2000

1000 - 1000 = 1000 N 1000

1 L 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39, TVC(cbch) (39,6 TVC(c, bch) (39,

“ g :?\_ueﬂjd 125 T b)SbE+U4/25 “ g l?dbe+U4 125 T nar 214:»04/25
4000 [, pO 4208+ 0.0 4000 Fem, pO 4216+ 0.0 4000 fme, pO 4231 0.0 4000 fs pO 4241% 0.0
Pl -35.04% 0.00 -36.1% 0.0 L pl 36+ 0.0 pl 3512+ 0.00

3000 - 3000 - 3000 ] 3000 E

2000 _ 2000 - 2000 — — 2000 ]

L ] 1000 - 1000F ~ = ] [~ h

1000f C rC=27.78 [pS/Ch ] woof- C = 28.48 [pS/Ch
1 ' 0 1 - 1 [ 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3,9, 11)
T rnuZse+u4 [ 25 T nup.b10e+u4 / 25 ©1nuz 3yoe+ud | 25 T nuiz 15ze+04 [ 25
4000 o, pO 4215+ 0.0 4000 pO 4227+ 0.0 4000 fo DO 4249+ 0.0 4000 o, p0 4256+ 0.0
pl -34.97 + 0.00 pl -35.53 + 0.00 F pl -34.95+ 0.00 pl -36.01+ 0.00

-1 3000

3000 N 3000 - 3000 1

2000 - 2000 2000 - 2000

1000 - 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(cbch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

TinuiLs1oe+u4 / 25 T rybe+u4 [ 25 T yre+ud [ 25 T r4re+04 1 25
4000 4270+ 0.0 4000 [ pO 4248+ 0.0 4000 [, PD 4255+ 0.0 4000 [, pO 4247+ 0.0
-36.6 % 0.0 pl  -36.75+0.00 3 Pl -37.88+ 0.00 pl  -37.02+0.00

- 3000

3000 -1 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

- so/e+u4 [ 25
pO 4219+ 0.0
p1 37+ 0.0

TP delay [ns]

TVC(Cbch) (3, 10 4

- i b83e+ud [ 25
pO 4205+ 0.0
p1 -36.81+ 0.00

10‘0
TP delay [ns]

TVC(eb,oh)=(3, 10,8

- iz 5e+U4 [ 25
pD 4250+ 0.0
p1 -36.99+ 0.00

TP delay [ns]

TVC(Cbch) (3, 10 12

T rnuiLgase+u4 / 25
po 4234+ 0.0
pl -35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3,10,1)

A7 1 nuiL29oe+u4 [ 25
po 4221+ 0.0
p1 -37.97 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (3, 10 5

T 1 r4e+04 | 25
pO 4212+ 0.0
p1 -36.81% 0.00

1(;0
TP delay [ns]

TVC(eb.oh)=(3, 10,9

-/ o.ibe+ud /25
pO 4263+ 0.0
pL -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 10 13

[ C =29.12 [ps/ch] 7]

~ 1 nuiL pbae+ud / 25
4234+ 0.0
-34.34+ 0.00

50

il
100

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (3,10,2)

A~ 1nuiaz1e+04 /25
po 4218+ 0.0
p1 -37.45+ 0.00

TP delay [ns]

TVC(Cbch) (3, 10 6

© 1 nuiLbage+u4 | 25
pO 4224+ 0.0
pl -36.66 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (3, 10 10

T nuigbole+ud [ 25
po 4276+ 0.0
p1 -37.16 + 0.00

TP delay [ns]

TVC(CbCh) (3, 10 14

T nuiLgnze+u4 [ 25
pD 4236+ 0.0
pl -35.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10, 3)

A1 nuig suve+ud [ 25
po 4219+ 0.0
p1 -36.06 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (3, 10 7

rc

S nuan 1 rze+04 125
pO 4232+ 0.0
p1 -37.99+ 0.00

100
TP delay [ns]

TVC(Cbch) (3, 10 1

-1 nuiz.ugoe+u4 / 25
pO 4274+ 0.0
-36+ 0.0

1
100

TP delay [ns]

TVC(cbch) (3, 10 15

- i by3e+ud [ 25
4225+ 0.0
-35.61+ 0.00

1
100

TP delay [ns]



TVC(CbCh) (3,11,0)

4000 [

3000

2000 =

woor- C = 27.17 [ps/c ]

AT 1nuisize+04 /25
po 4186+ 0.0
p1 -36.8+ 0.0

0 5[') 10'0 =
TP delay [ns]
TVC(c,b ch) (3, 11 4)
- -1 nuiL4uze+u4 / 25
4000 L, pO 4169+ 0.0
p1 -35.32 0.00
3000 - 7]
2000~ 7]
1000~ C 7]
1 L -
50 100
TP delay [ns]
TVC(c,b, ch) (3, 11 8
2000 [

3000

2000

1000

0

T 3yre+ud /25
po 4238+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b Ch) (3 11,12

4000 =,

3000

2000

1000

X~ 11 4yne+04 /25
po 4218+ 0.0
pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (3,11,1)

. PO

AT 1Lz rse+ud [ 25
4191+ 0.0
pl -35.74 + 0.00

TP delay

TVC(c,b Ch) (3, 11 5

[ns]

“ i 31/e+04 / 25
4175+ 0.0
-33.37 + 0.00

[ C=29.97 [ps/ch]

50 1(;0
TP delay

TVC(eb.eh)=(3, 11, 9

pO

[ns]

T nu.//4e+04 [ 25
4253+ 0.0
pl -36.48 + 0.00

TP delay

TVC(c,b ch) (3, 11 13

pO

[ns]

T inuiLasge+ud [ 25
4202+ 0.0
pl -35.15+ 0.00
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K™ 1 nuiquze+u4 /25
4189+ 0.0
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TP delay

TVC(chh) (3, 11 6
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[ns]

T 3/5e+04 [ 25
4199+ 0.0
-35.06 + 0.00

TP delay

TVC(cbch) (3,11, 10

[ns]

_ ey m)ea,ua/zs
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b P -34.63+0.00
a000 7]
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1 1 =
) = T00
TP delay [ns]
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TP delay

TVC(CbCh) (3, 11 7

. pO

[ns]

S nun1p3e+u4 /25
4185+ 0.0
pl -34.53+ 0.00

TP delay

TVC(cbch) (3,11,11

[ns]

~ 1 nuiL pbze+ud [ 25
4266+ 0.0
-36.8 + 0.0

1
50 100

TP delay

TVC(c,b Ch) (3, 11 15

e pO

[ns]

<1 nuiquge+ud / 25
4207+ 0.0
p1 -35.17+ 0.00

TP delay
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pl -36.45+ 0.00
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TVC(cbch) (40,4

- i 38ze+04 / 25
e, pO 4222+ 0.0
pl -35.89+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (4 0,8

© 1L plae+u4 [ 25
po 4230+ 0.0
pl -36.76 + 0.00
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pO 4233+ 0.0
pl -35.56 + 0.00
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po 4207+ 0.0
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~ 1 nui 438e+04 / 25
pO 4236+ 0.0
-36.83+ 0.00
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TP delay [ns]

T nu.azve+u4 25
po 4260+ 0.0
pl -37.07 + 0.00

TP delay [ns]
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T nuis.pz1e+ud / 25
pO 4232+ 0.0
pl -35.86 + 0.00
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po 4217+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (4,0,6

-1 i 4pze+04 [ 25
pO 4246+ 0.0
363+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (4, 0 10

T 2.30e+04 /25
po 4257+ 0.0
pl -35.33+ 0.00
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pD 4227+ 0.0
pl -35.77+ 0.00
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TP delay [ns]

TVC(c,b ch) (4 0,7

-1 i bbze+u4 / 25
pO 4245 0.0
p1 -36.49 + 0.00
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50 1(;0
TP delay [ns]

T, /34e+u4/25
po 4269+ 0.0
p1 -36.46 + 0.00
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pl -34.61+ 0.00
e E
1 L -
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TP delay [ns]
TVC(c,b ch) (41,8

T L4 r8e+04 / 25
po 4235+ 0.0
pl -36+ 0.0

TP delay [ns]
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TP delay [ns]
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[ C =29.48 [ps/ch] 7]

“nu Zse+u4 [ 25
4204+ 0.0
-33.92+ 0.00
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TP delay [ns]

TVC(c,b ch) (4 1,9

T nun.gu/e+ud [ 25
po 4246+ 0.0
pl -36.39 + 0.00
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- C = 30.64 [ps/ch] ™. 1

-1 nurL319e+04 / 25
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pl -32.64+ 0.00
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TP delay [ns]
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T rnuzr4e+04 /25
po 4256+ 0.0
pl -35.15+ 0.00

TP delay [ns]
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pl -36.24 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (4,2,2)

T Lzoe+ud /25
o=, pO 4189+ 0.0
L p1 -36.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,2,6

-1 nurbbye+ud / 25
- pO 4210+ 0.0
3 pl -36.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,210

T zzZ1e+04 /25
= po 4243+ 0.0
- pl -36.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,214

~ 1L buse+u4 / 25
4214+ 0.0
-36.1+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,3

A1 L4444 ] 25
pe=s, po 4206 + 0.0
pL -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,7

=1 nui byze+u4d [ 25
- pO 4219+ 0.0
pL -36.12:+ 0.00
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X,
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-36.91+ 0.00
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4223+ 0.0
-37.17 + 0.00
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TVC(eb,ch)=(4, 4,8

1uiLyuse+u4 / 25
- po 4238+ 0.0
p1 -37.84+ 0.00
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-1 nui bb3e+ud / 25
- pO 4216+ 0.0
pL -37.96+ 0.00
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TP delay [ns]

TVC(c,b ch) (4 4,9

T nug3roe+u4 /25
4251% 0.0
-36.4 + 0.0

1
50 100
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- rnuyz1e+u4 / 25
pO 4217+ 0.0
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TP delay [ns]
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-, po 4258+ 0.0
- pl -36.33+ 0.00
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TP delay [ns]

TVC(c,b ch) (4 4,7

- 1nuiLYr4e+04 / 25
4213+ 0.0
-36.9 + 0.0
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TP delay [ns]

TVC(c,b ch) (4, 4
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T onan2.uze+u4 | 25
4265+ 0.0
-37.6 £ 0.0

1
50 100

TP delay [ns]
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T nui rbve+ud [ 25
- po 4220+ 0.0
p1 -35.28 + 0.00

TP delay [ns]
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[ns]

T 38/e+u4 / 25
4187+ 0.0
-36.87 + 0.00

TP delay

TVC(cbch) (4 5,8

[ns]

T rnug.zge+u4 | 25
4240+ 0.0
-37.51+ 0.00

TP delay
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4229+ 0.0
pl -35.37 + 0.00
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4265+ 0.0
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pl -37.19+ 0.00

0

TP delay

TVC(cbch) (4,5,14

[ns]

~ 1 nuiLpsye+u4 / 25
4241+ 0.0
-36.01+ 0.00
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-37.16+ 0.00
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TVC(cbch) (4 6, 8

1 nuiz zoze+u4 | 25

= pO 4217+ 0.0
pl -36.15+ 0.00
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TVC(c,b ch) (4 6,5
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pL -37.2+ 0.0

[ C =26.88[ps/c ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 6,9

~ 1 nug. 3ose+ud / 25
= po 4225+ 0.0
pl -36.24 + 0.00
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E. pO
pl

- nur 31be+04 / 25
4218+ 0.0
-35.11 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 4

T 945e+u4/25
4267+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 4 15

T inuia1se+ud [ 25
4208+ 0.0
-35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,5,0)

A7 1nun szve+u4 /25
4186+ 0.0
-35.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (55,4

- rnuiL413e+04 / 25
e pO 4185+ 0.0
pl -36.32:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 5,8

©1nuz.g4ze+04 | 25
- po 4225+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (5,5, 12

T L4 rse+u4 [ 25
= po 4227+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,51

X~ 1L dzoe+ud | 25
.. po 4206 + 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 55

-1 nui Zobe+u4 / 25
e, pO 4193 0.0
pL -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (5 59

T nu, rg3e+u4 / 25
- pO 4244+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (5,5,13

T inai zose+ud [ 25
- pO 4224+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,5,2)

A7 1 nun suse+ud / 25
- po 4189+ 0.0
L pl -36.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

TN 3g8/e+04 / 25
- pO 4187+ 00
F Pl 3668+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

1000

Tz 13ze+04 | 25
. po 4238+ 0.0
- pl -36.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

T rse+u4 [ 25
- pD 4234+ 0.0
[ p1 -36.74+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

AT 1 nuiL4nse+ud [ 25
=3 po 4214+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (5 57

~nuibrle+u4 / 25
e, pO 4220+ 0.0
pL -37.36+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 5

SRR bUbe+U4/25
- pO 4249+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(C, bch) (5.5,15

T inan 1 ooe+ud [ 25
- pO 4227+ 0.0
pl -35.95+ 0.00

TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561) TVC(cbch)(562) TVC(cbch)(563)
A~ 11 4p00e+04 / 25 A~ 1 3spe+ud | 25 A~ 1L 51ye+u4 [ 25 A~ agre+ud | 25
4000 [Fowe, PO 4183+ 0.0 4000 P po 4176+ 0.0 4000 _=- po 4195+ 0.0 4000 [ po 4203+ 0.0
pl -34.99 + 0.00 pl -34.61+ 0.00 F pl -34.65+ 0.00 pl -35.06 + 0.00

- 3000

3000 — 3000 - 3000 4

2000 B 2000 E 2000 2000

1000 E 1000 1000

1 wol- C = 28.86 [ps/ch]

1 1 L 1 1 1 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (56,4 TVC(cbch) (5.6, TVC(cbch) (56,6 TVC(c, bch) (5.6,

S 1)519+U4 125 4000 Trnur 2Uye+l)4/25 “ g 2‘1/e+u4 125 T nar )/ze+l)4/25
4000, pO 4194+ 0.0 pO 4191 0.0 4000 e, pO 4210+ 0.0 4000 e, pO 4200+ 0.0
pl -35.46 + 0.00 pL -35.79.+ 0.00 F pl -36.42 % 0.00 pL -35.28 + 0.00
3000~ - 3000 1 3000~ ] 3000 1
2000 |- E 2000 1 2000 ] 2000 [ -
10001 C 4 1000 B woor C = 27.46 [ps/ch ] wool- C = 28.35 [ps/ch ]
1 L= o [ 1 L= 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(5,6,8) TVC(eb,oh)=(5,6,9) TVC(eb.oh)=(5, 6, 10) TVC(e.beh)=(5, 6, 11)
1 nuig.z18e+u4 | 25 1 nuy.2uge+u4 [ 25 1nuiz oz /e+u4 | 25 1 nuiLB1oe+u4 / 25
4000 f, PD 4216+ 0.0 4000 fo, 4234+ 0.0 4000 __- po 4250+ 0.0 4000 o, 4239+ 0.0
pl -34.71+ 0.00 -34.56 + 0.00 : pl -35.78 + 0.00 -34.63 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 4 2000 |- - 2000 2000 -

1000 E 1000 C = 28.93 [pS/Ch] — 1000: w00 C = 28.88 [pS/Ch] 7]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (5,6, 12 TVC(cbch) (5,6,13 TVC(cbch) (56,14 TVC(C, bch) (5,6, 15

1L puse+u4 / 25 T nuiL vye+ud / 25 T rnuiLpo/e+u4 [ 25 T nuipule+ud / 25
41000 o, PO 4235+ 0.0 4000 e, PO 4229+ 0.0 4000 - PD 4232+ 0.0 4000 po, PO 4239+ 0.0
pl -36.52+ 0.00 pl -36.49+ 0.00 r pl -36.88 + 0.00 pl -36.89 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(570 TVC(cbch)(571 TVC(cbch)(572) TVC(cbch)(573)

A” 1L zose+ud / 25 A~ 1w use+ud | 25 AT i zzze+04 [ 25 “rnan g 33e+ud /25
4000, po 4216+ 0.0 4000, po 4230+ 0.0 4000 fm po 4235 0.0 4000 fmm, po 4252+ 0.0
Pl -35.26+0.00 Pl -35.84% 0.00 [ pl 3525+ 0.00 pl_ -35.77%0.00

3000 — 3000 — 3000 [ ] 3000 -
- J
2000 - 2000 - 2000 [ ] 2000 =
1000 — 1000 1 1000 ] 1000 7
50 100 S(I) 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (57,4 TVC(cbch) (5.7, TVC(cbch) (57,6 TVC(c, bch) (5.7,

“ g 4)\_7\:)9+UA 125 “rnarg 1)E48+U4/25 “ g J)l‘jeHJd 125 T nar )1be+l)4/25
4000 pO 42471 00 4000 e, pO 4250£ 0.0 4000 fem, pO 4248+ 0.0 4000 fr, pO 4255£ 0.0
Pl -35.35: 000 Pl -35.63% 000 [ L -35.86% 0.00 Pl -3557%000
3000 ] 3000 - s000 ] 3000 | 4
2000 ] 2000 — 2000~ . 2000 ]
1000 ] 1000 1 wool- C = 27.88 [ps/ch 7 1000 C = 28.11 [ps/ch] ]
1 L - 1 -
50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 7,8 TVC(cbch) (5 7,9 TVC(cbch) (5, 7 10 TVC(cbch) (5, 7

T rnuz.zyle+u4 | 25 ~ 1 nug ysse+ud / 25 ©1nuz194e+04 | 25 T rnug bme+u4/25
4000 B po 4225+ 0.0 4000 pO 4250+ 0.0 #000 e, po 4272+ 0.0 4000 fom, p0 4264+ 0.0
pl -36.42+ 0.00 pl -36.69 + 0.00 r pl -36.51+ 0.00 pl -35.64 + 0.00

3000

. 3000 1 3000 -1 3000 -1

2000 -1 2000 -1 2000 N 2000

1000 -1 1000 - 1000

1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (5, 7 12) TVC(c,b Ch) (5, 7 13) TVC(c,b Ch) (5, 7 14) TVC(c,b Ch) (5, 7 15)
~1nuiL4y4e+04 / 25 T nui vzze+ud [ 25 T i 349e+04 [ 25 -1 nuibuae+u4 / 25
4000 PO 4271% 0.0 4000 pO 42812 0.0 4000 fomm pD 4274+ 0.0 4000 4277+ 00
Pl -35.86+ 0.00 Pl -36.75: 0.00 [ PL_ -36.16% 0.00 -36.41% 0.00

- 3000

3000 _ 3000 -1 3000 .

2000 - 2000 1 2000 E 2000

1000 - 1000

T 1000 - 1000

PR I S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(580) TVC(cbch)(581) TVC(cbch)(582) TVC(cbch)(583)
A” 11 buye+ud / 25 A~ 1w bpbe+ud [ 25 A” 11 4upe+ud [ 25 A~ 1w 1yoe+ud / 25

4000 po 4202+ 0.0 4000, po 4209+ 0.0 4000k, po 4214+ 0.0 4000 e, po 4214+ 0.0
pl -36.47 + 0.00 pl -36.31+ 0.00 - pl -35.39+ 0.00 pl -35.64 + 0.00

3000

-1 3000 - 3000

-1 3000 -

2000 1 2000 - 2000

N 2000 =

1000 1 1000 1000

wof- C = 28.25 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (5 8,4) TVC(c,b Ch) (5, 8 ) TVC(c,b Ch) (5 8,6) TVC(c,b Ch) (5 8,7)
~ 1 nunL bB3e+u4 / 25 T r3be+u4 [ 25 ~ i Bzze+04 [ 25 -1 yage+ud | 25
4000 pO 4230+ 0.0 4000 e, pO 4220+ 0.0 4000 = pO 4231+ 0.0 4000 [ pO 4245+ 0.0
Pl -35.77%0.00 Pl -35.31% 0.00 I PL_ -34.86+ 0.00 Pl 3544+ 0.00

3000

- 3000 - 3000 - -1

. 3000

2000 T 2000 - 2000 - 2000 -

1000 - 1000 - 1000

. woof C = 28.22 [ps/ch ]

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch)=(5,8,8) TVC(e.c)=(5,8,9) TVC(eb.ch)=(5, 8, 10) TVC(ebeh)=(5,8,11)
© 1 nuiLp4be+u4 / 25 T 1z/e+V4 1 25 Tnuz(oe+u4 [ 25 -1 3oge+u4 / 25
4000 e, pO 4228+ 0.0 4000 e, pO 4248+ 0.0 4000 [, DO 4268+ 0.0 4000 [ p0 4259+ 0.0
Pl 3587000 Pl -35.89: 0.00 [ -36.1% 0.0 Pl -34.91% 0.00

3000

- 3000 -1 3000 -1 3000

2000 . 2000 -1 2000

2000

1000 -1 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5,812 TVC(cbch) (5.8,13 TVC(cbch) (5,814 TVC(C, bch) (5.8,15

i py4e+u4 | 25 Tonan L B3e+ud [ 25 ~ 1L pzae+u4 [ 25 T nui ooze+ud [ 25
41000 o, pO 4225+ 0.0 4000 o, pO 4226+ 0.0 4000 o, PD 4230+ 0.0 4000 e, pO 2244+ 0.0
pl -35.13+ 0.00 pl -36.23+ 0.00 F pl -34.49+ 0.00 pl -36.17 + 0.00

- 3000

- 3000

3000 3000~

2000 B 2000 2000} 2000

1000 1000 1000

1w C = 29.00 [ps/ch]

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (5,9,0)

A1y,

4000 &

3000

2000 [~

po
pL

Lise+ud | 25
4187+ 0.0
-33.01+ 0.00

woor C = 30.30 [ps/ch]

L 1
50 100

TP delay [ns]

TVC(cbch) (59,4

= o,

4000 e,

3000 -

2000~

1001 C = 29.75 [ps/ch]

pO
pl

1use+u4 / 25
4229+ 0.0
-33.62+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5 9,8

4000 [

3000~

2000 [~

- rnuzQrze+u4 [ 25

4209+ 0.0
-33.05+ 0.00

oo C = 30.26 [ps/ch]

0

1
50 00

TP delay [ns]

TVC(cbch) (5,9,12

4000 .,

3000

2000

1000

po
p1

T L pase+u4 / 25
4256+ 0.0
-35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,1)

A1 Qaze+Ua ] 25

P po 41843‘
pl -33.02+ 0.00
[ C=30.29 [ps/ch] - 7
_ e
TP delay [ns]

TVC(c,b ch) (5 9,5

-1 nuiLU/4e+04 [ 25

4225+ 0.0
-33.13+ 0.00

- PO
pL
[ C =30.19 [ps/ch] ™ ]
& o
TP delay [ns]

TVC(c,b ch) (5 9,9

pO
pl

S g 7/ re+u4 [ 25

4232+ 0.0
-34.48 + 0.00

[ C =29.01 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (5, 9 13

- pO

T nuibuse+ud / 25
4256+ 0.0
-34.68 + 0.00

I C =28.83 [ps/ch]

50

il
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,2)

nu

A yro0/25
e, po 4200+ 0.0
[ pl -32.86 + 0.00
r C=30.43 [ps/ch] ™ 1]
C 5(') 10'0
TP delay [ns]
TVC(cbch) (5 9,6)
-1 nuiL Zove+u4 [ 25
- pO 4223+ 0.0
[ pl -34.72+ 0.00

TP delay

TVC(eb,oh)=(5, 9, 10

[ns]

T, 321e+04/25

4000 fm, pO 4243 0.0

[ p1 -33.08:+ 0.00
a000 7
20001 .
wor C =30.23 [ps/ch] ™= ]
- L 1 - b

0 50 100

TP delay [ns]

4000

3000

2000

TVC(cbch) (59,14

1000

- pD

pl

-1 so1e+u4 [ 25
4266+ 0.0
-35.9+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,3)

A1 laae+Ua ] 25

po
pL

4205+ 0.0
-33.23+ 0.00

[ C=30.10 [ps/ch] ™. ]
-'\-
gé 160
TP delay [ns]

TVC(c,b ch) (5 9,7

- pO
pl

=1 nui 4upe+u4 / 25

4236+ 0.0
-34.14 + 0.00

[ C=29.29 [ps/ch] ™, 1]
- o
TP delay [ns]

TVC(c,b ch) (5, 9

SRR bee+U4/25

4236+ 0.0
-33.29+ 0.00

[ C =30.04 [ps/ch]

_L
50

1
100

TP delay [ns]

TVC(c,b ch) (5, 9 15

- pO

- i sove+ud [ 25
4264+ 0.0
-34.76 + 0.00

[ C=28.77 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 10 0)

T rnuiLyole+u4 / 25
pO 4203+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (5.10,4

- rnuzu41e+u4 / 25
pO 4236+ 0.0
pl -36.99+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b, ch) (5, 10 8

T nuig,130e+U4 / 25
PD 4235+ 0.0
-36.7 + 0.0

1
100

TP delay [ns]

TVC(cbch) (5,10, 12

T rgre+u4 [ 25
pO 4246+ 0.0
pl -34.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

AT 1 nunLszse+u4 [ 25
po 4206+ 0.0
p1 -36.43+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (5.10,5

-1 nuz.uuze+ud / 25
pO 4222+ 0.0
pL -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 10

~ 1 nuy.ayae+u4 [ 25
po 4271+ 0.0
pl -38.61+ 0.00

TP delay [ns]

TVC(cbch) (510,13

~ 1 nui guse+ud / 25
pO 4261+ 0.0
-36.21+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,10,2)

A7 1 nuiLyzoe+u4 /25
po 4213+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (5.10,6

1000

T rnuzu3re+u4 [ 25
4236+ 0.0
-37.9+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

a2 gype+u4 | 25
po 4277+ 0.0
pl -37.65+ 0.00

TP delay [ns]

TVC(cbch) (5.10,14

T L go3e+ud [ 25
pD 4259+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

AT 1L sse+u4 [ 25
po 4219+ 0.0
pl -36.07 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (5,10, 7

-1 nu 293e+u4 / 25
pO 4247+ 0.0
p1 -37.41% 0.00

100
TP delay [ns]

TVC(cbch) (5, 10 1

T inuiz1z1e+u4 /25
pO 4288+ 0.0
p1 -37.94+ 0.00

TP delay [ns]

TVC(cbch) (5.10,15

T nuizyive+ud [ 25
pO 4259+ 0.0
p1 -35.74+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,0)

A /'Ulllle+u4/25
[raese. PO 4176+ 0.0
pl -34.97 + 0.00

TP delay [ns]

TVC(cbch) (511,4

- i Bole+ud / 25
P, pO 4207+ 0.0
pl -36.41% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

T nuiLf (ye+u4 / 25
- pO 4212+ 0.0
-35.1% 0.0

TP delay [ns]

TVC(cbch) (5,11, 12

X~ 1 35/e+04 /25
- po 4229 0.0
pl -34.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,1)

AT 1 nuiLzyze+ud [ 25
[rome, Y 4176+ 0.0
p1 -35.2 % 0.0

TP delay [ns]

TVC(cbch) (5 11,5

- ”UILH/E+U4/25
. DU 4222+ 0.0
Pl -36.68+ 0.00

TP delay [ns]

TVC(cbch) (5, 11 9

Trnug 1 /ze+u4 1 25
= pO 4249+ 0.0
pl -35.92:+ 0.00

TP delay [ns]

TVC(cbch) (511,13

T sb1e+u4 /25
- pO 4248+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (511,2)

T z41e+04 [ 25
[ onee, pO 4192+ 0.0
I pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (5 11,6

1000

TN r3ze+04 [ 25
- pO 4219+ 0.0
3 PL_ -36.28% 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

X~ 1nuiz3u/e+u4 /25
- po 4254+ 0.0
L -37.01+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X~ 1 Sooe+U4 / 25
- po 4248+ 0.0
I pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11, 3)

AT 1 nuiL,1yse+u4 / 25
po 4204+ 0.0
p1 -35.94 + 0.00

TP delay [ns]

TVC(cbch) (511,7

=1 Boge+u4 / 25
- PO 4228+ 0.0
Pl -36.05: 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (511,11

~ i bbZe+u4 [ 25
- p0 4264+ 0.0
pL -36.07  0.00

TP delay [ns]

TVC(cbch) (511,15

~ 1 aq¥e+U4 [ 25
- pO 4238+ 00
pl -35.92 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 12 0)

pO

T ‘MAEHJW‘
Frcea pO 4201+ 0.0
pl -34.4+ 0.0
[ C=29.07 [ps/ch],_ 7
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (5, 12 4)
~ Ui 348e+04 / 25
F 4209+ 0.0
-34.77 + 0.00

pL

- c =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (5, 12 8)
S LB rye+ud / 25
= pD 4230+ 0.0
-34.91+ 0.00

TP delay

TVC(Cbch) (5, 12 12

- pO

[ns]

L b4pe+04 / 25
4219+ 0.0
-34.16 + 0.00

[ C =29.27 [ps/ch]

L n n n n 1
50 100

TP delay

[ns]

TVC(chh) (5,12,1)

4000 fur po

AT nuiL$33e+U4 [ 25
4204+ 0.0
-35.05+ 0.00

pl

3000

2000

1000

1 1
50 100

TP delay [ns]

TVC(ebeh)=(5, 12,5

nut

4000

1.4e+04 /25
4223+ 0.0
-35.2+ 0.0

3000

2000

1000

1
50 00

TP delay [ns]

TVC(eb.oh)=(5, 12,9

4000 B pO

pl

<1 nu gyve+ud 25
4230+ 0.0
-33.64 + 0.00

3000 -

2000 -

o C =29.72 [ps/ch] ™.

1
50 00

TP delay [ns]

TVC(c,b ch) (5, 12 13

4000 e pO

p1

T inuiLa/0e+ud [ 25
4215+ 0.0
-34.86 + 0.00

3000

2000

1000 |~

TP delay [ns]

TVC(CbCh) (5,12,2)

4000 po

3000
2000

1000

X~ 1L so1e+U4 / 25
4227+ 0.0
p1 -36.36+ 0.00

TP delay

TVC(Cbch) (5, 12 6

4000 fomm PO

pl

[ns]

“ L4 /pe+04 [ 25
4227+ 0.0
-35.83 + 0.00

3000 |~

2000~

wol- ¢ = 27.91 [ps/ch

TP delay

TVC(cbch) (5, 12 10

4000 F pO

pl

[ns]

-1 nu 5use+u4 25
4264+ 0.0
-34.47 + 0.00

3000~

2000~

1000:— C =29.01 [ps/ch]

1
0 50 100

TP delay

TVC(CbCh) (5, 12 14

4000 [

[ns]

T rnuiLpr4e+u4 [ 25
4221+ 0.0
-35.71+ 0.00

3000
2000

1000

PR R R SR R |
50 100

TP delay

[ns]

TVC(Cbch) (5,12,3)

AT 1nuiLgz/e+u4 /25
4224+ 0.0
pl -36.45+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c,b Ch) (5, 12 7

4000 e, PU

[ns]

-1 nui b3ye+u4 / 25
4242+ 0.0
p1 -35.38+ 0.00

3000 -

2000 -

1000 C = 28.26 [pS/Ch

TP delay

TVC(Cbch) (5, 12 11

4000 e, pO

pl

[ns]

T onan 1 yse+ud [ 25
4255+ 0.0
-34.33+ 0.00

3000 -

2000 -

1000 C = 29.13 [ps/ch]

1
50 00

TP delay

TVC(cbch) (5, 12 15

4000 [u.

[ns]

Tinuia4/e+04 /25
4223+ 0.0
p1 -34.79 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 13 0)

T rnuizuzoe+u4 | 25
- pO 4205+ 0.0
p1 359+ 0.0

TP delay [ns]

TVC(cbch) (5.13,4

- i 74e+04 | 25
o, pO 4215+ 0.0
pl -36.53+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

T rnuiLyse+u4 [ 25
- pO 4234+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (5,13, 12

T4z re+04 /25
= po 4240+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

e, po

pl

AT 1 nuiLBU/e+u4 [ 25
4213+ 0.0
-35.95+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

- Ui b3be+u4 / 25
4234+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

= po

<1 nu byse+u4 / 25
4247+ 0.0
-36.13 + 0.00

pl

TP delay [ns]

TVC(cbch) (513,13

e, pO
p1

Tinuibize+ud [ 25
4236+ 0.0
-35.63+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

A7 1 nui soye+u4 / 25
Freee, po 4202+ 0.0
- pl -35.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

1000

-1 nuiL4p5e+04 / 25
- pO 4206+ 0.0
[ pl -35.14 + 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

1000

0

©1nuzb4pe+ud | 25
- po 4281+ 0.0
- pl -37.46 + 0.00

TP delay [ns]

TVC(cbch) (5.13, 14

~ 1L syde+u4 [ 25
- pD 4245+ 0.0
L pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

s, po

AT 1 nuzbsoe+ud [ 25
4202+ 0.0
p1 -34.48 + 0.00

[ C =29.01 [ps/ch]

L
50 100

TP delay

TVC(c, bch) (5,137

[ns]

- i 44/e+04 / 25
4219+ 0.0
-35.7 + 0.0

TP delay

TVC(cbch) (5, 13 1

= pO

[ns]

-1 nuiz.yuye+ud / 25
4272+ 0.0
pl -36.39+ 0.00

TP delay

TVC(cbch) (513,15

[ns]

T nui soye+ud / 25
4250+ 0.0
pl -36.44 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,14,0)

W 1oe+ud /25

'
PO 4208+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (5.14,4

- rnui14ze+04 [ 25

Fome, pO 4207+ 0.0
pl -36.04  0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 14 8

© iz l/e+u4 /25

-

4213+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(cbch) (5,14, 12

1 nui Babe+ud | 25

== pO 4243+ 0.0
pl -35.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,14,1)

e, po

p1

AT 1 nuLoloe+ud [ 25
4203+ 0.0
-36.07 + 0.00

TP delay [ns]

TVC(c, bch) (5,14,5

=g

15e+04 / 25
4199+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(c, bch) (5, 14 9

~ 1 nu.zgae+u4 | 25
4234+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(cbch) (5,14,13

Ao,

(o2e+U4 [ 25
4249+ 0.0
-36.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,14,2)

K™ 1 nuiquze+u4 /25

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

1000

[P, po 42273‘
F pl -35.58 + 0.00
- C = 28.11 [ps/ch] 1

Lz re+04 [ 25

- pO 4228+ 00
H PL_ -36.39+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

4253+ 0.0
35.6 + 0.0

T z.3e+04 /25

TP delay [ns]

TVC(cbch) (5. 14,14

1 nuiL pbybe+ud / 25

- PD 4228+ 0.0
I pl -35.43 + 0.00

TP delay [ns]

TVC(cbch) (5,14,3)

4000 [

A1 Ui 4yae+ud | 25
PO 42331 0.0
pl -36.72+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (5,14, 7

2000

- i zzze+04 / 25
PO 42141 0.0
pL -35.34 + 0.00

3000 -

2000 -

wol C = 28.30 [ps/ch

TP delay [ns]

TVC(eh.eh)=(5, 14, 11)

4000 [,

rnur1.9e+u4 /25

-36+ 0.0

4259+ 0.0

3000

2000

1000

TP delay [ns]

TVC(cbch) (5.14,15

4000 oy

-1 suge+u4 [ 25
pO 4239+ 0.0
pl -35.88 + 0.00

3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 15 0)

[ C =28.68 [ps/ch] ]

T rnuizurve+u4 [ 25
4246+ 0.0
-34.87 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5,154

- 1z u04e+04 / 25
o, pO 4213+ 0.0
pl -36.43+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

T 1 /e+u4 /25
- pO 4224+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (515,12

TrnuiLgsre+ud [ 25
- po 4260+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

AT 1L ysse+ud [ 25
s po 4231% 0.0
p1 -34.26+ 0.00

[ C=29.19 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(cbch) (5,155

-1 nuz.uybe+ud / 25
F po 4221+ 0.0
pL -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

-1 nub.ygoe+ud | 25
- pO 4234+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(cbch) (5.15,13

T inuiL g rse+ud [ 25
pO 4274+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

1000

1000

TVC(CbCh) (5,15,2)

A~ 1 nuzug1e+04 /25
po 4256+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(cbch) (5.15,6

T rnuz2.29e+04 [ 25
pO 4228+ 0.0
pl -36.82+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (5. 15, 10

a2 guze+u4 | 25
po 4256+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (5.15, 14

~1nuiLgyse+U4 / 25
pD 4270+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

A" 1wz 18ze+04 ] 25
po 4267+ 0.0
pL -35.41+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (5,15, 7

- 1nu 103e+04 / 25
pO 4234+ 0.0
p1 -36.14 + 0.00

1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

Tinuz1//e+u4 /25
pO 4265+ 0.0
p1 -36.24 + 0,00

TP delay [ns]

TVC(cbch) (515,15

Tonan L oe+ud [ 25
4256+ 0.0
-35.51+ 0.00

1
100

TP delay [ns]



TVC(cbch)(GOO) TVC(cbch)(GOl) TVC(cbch)(602) TVC(cbch)(603)
A~ 1 buve+u4 /25 “rnan g bze+ud [ 25 S g roe+ud [ 25 A~ 1w rrae+U4 | 25

4000 [Fowee PO 4151+ 0.0 4000 P po 4167+ 0.0 4000 _=- po 4172+ 0.0 4000 Fones, po 4187+ 0.0
pl -34.05+ 0.00 pl -35.52+ 0.00 r pl -34.92 + 0.00 pl -35.58 + 0.00

- 3000

- 3000

3000 = 3000

2000 - 2000 T 2000 - - 2000

1000 - 1000

1000

wol ¢ = 28.63 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,0,4) TVC(cbch) (6,0,5) TVC(cbch) (6,0,6) TVC(cbch) (6,0,7)
-1z 119e+u4 / 25 “nug ryze+u4 [ 25 - g 1u8e+u4 / 25 -1 nu 240e+04 / 25
A000FL., pO 4171 0.0 a000E DU 4182+ 0.0 4000 4199+ 0.0 4000k, pO 4205 0.0
-34.02.+ 0.00 pl 3554+ 0.00 3 -35.8+ 0.0 Pl -34.78+ 0.00

-1 3000

3000 - 3000 1 3000 B

2000 E 2000 E 2000

2000 [~

w0l C = 29.39 [ps/ch]™, 1 wer C N o o C = 28.75 [ps/ch]y,_ 7
55 5 - 5 105 = 2 =5 5o - 5 0% =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 0,8 TVC(cbch) (6 0,9 TVC(cbch) (6, 0 10 TVC(c, bch) (6, O

T 1nug psse+u4 | 25 ~ 1 nu. 38Ye+u4 [ 25 ©nu.y3be+u4 | 25 Tnuny zse+u4/25
4000 [ e, PD 4178+ 0.0 4000 [, DO 4197+ 0.0 4000 [ DO 4216+ 0.0 4000 pO 4221+ 0.0
pl -35.97 + 0.00 pl -36.56 + 0.00 r pl -35.85+ 0.00 pl -35.68 + 0.00

3000 [~ -1 3000 - 3000 N 3000 T

2000~ b 2000 7] 2000 1 2000 b

10001~ C 1 1000 ] 1000 B 1000 E

- L
-
. -
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,0,12 TVC(cbch) (6,0,13 TVC(cbch) (6,0,14 TVC(C, bch) (6,0,15

Tz, 1z0e+04 | 25 T inuiz.z43e+u4 / 25 ~ 1z 159e+04 / 25 Tinuizsz/e+u4 /25
4000, PO 4209+ 0.0 4000 PO 4205+ 0.0 4000 o PD 4200+ 0.0 4000 PO 4215+ 0.0
pl -35.32+ 0.00 pl -35.68 + 0.00 F pl -35.15+ 0.00 pl -35.96 + 0.00

3000 - — 3000 B 3000 - 3000 1
2000 - — 2000 1 2000 - 2000 -
1000 |- E 1000 1 1000 E 1000~ 7
. [ ]
-
-
1 1

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

A~ 1 nui Syze+u4 [ 25
po 4176+ 0.0
p1 -36.92:+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

-1z 3p8e+u4 / 25
pO 4178+ 0.0
p1 -34.26+ 0.00

TP delay [ns]

TVC(cbch) (6 18

i Bbae+Ud [ 25
- pD 4200+ 0.0
p1 -34.62 + 0.00

TP delay [ns]

TVC(cbch) (61,12

-1 glze+ud [ 25
= po 4199+ 0.0
pl -35.72:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

X nuiL6are+U4 | 25
o po 4196+ 0.0
pL -37.44 £ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

T nu oze+04 [ 25
pO 4163 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

~ 1 nui 340e+04 | 25
pO 4233+ 0.0
p1 -34.86 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

T inuig1ye+ud [ 25
pO 4193+ 0.0
p1 355+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,1,2)

X~ 1L bL/e+u4 [ 25
F.. po 4212+ 0.0
L pl -37.9+ 0.0

- C = 26.38 [ps/c .

TP delay [ns]

TVC(cbch) (61,6

T nuzyure+u4 | 25
- pO 4198+ 0.0
- pl -36.08 + 0.00

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

- 1 nuiz.208e+04 | 25
- pO 4246+ 0.0
[ p1 -35.57:+ 0.00

TP delay [ns]

TVC(cbch) (61,14

-1 yzae+04 [ 25
= pD 4192+ 0.0
L p1 -35.08+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

A~ 1 nuiL5yoe+u4 [ 25
po 4195+ 0.0
pL -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

= inulize+ud | 25
= po 4192+ 0.0
pl -34.79 + 0.00

TP delay [ns]

TVC(c,b ch) (6, l

SRR b‘JHe+U4/25
- pO 4256+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

S 53e+u4 [ 25
pO 4200+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



TVC(c,b Ch) (s, '2/'\1'01)649+U4/25 TVC(ch Ch) ( 6)\2' uu:!z u)ue+u4/25 TVC(eb Ch) ( 6x2uun212me+u4/25 TvC(eb Ch) ( 6)‘2' ”“:z 4)““9*04/25
A000R po 4200+ 0.0 400, po 4210+ 0.0 4000 [Foee, po 4209+ 0.0 4000, po 4213+ 0.0
Pl -37.45+0.00 Pl -36.07+0.00 3 Pl -35.43+0.00 pL -36.51+ 0.00

3000

7 3000 -1 3000 - - 3000

2000 2000 m 2000 . 2000

1000 1000 1000

wol- C = 28.22 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62,5 TVC(cbch) (62,6 TVC(c, bch) (6,27

- rnuz,u81e+ud / 25 T zose+ud | 25 -1 nuLy15e+u4 / 25 -1 nuz.03be+u4 / 25
A000E, pO 4215+ 0.0 4000k, pO 4220+ 0.0 4000 [, pO 4236+ 0.0 4000 pO 4250+ 0.0
pl 3591 0.00 Pl -36.19: 0.00 L Pl -35.78+ 0.00 Pl -36.26+ 0.00

3000~ E 3000 E 3000~ - 3000 —

2000 - 2000 - 2000 . 2000 -

w000 C - 1000 - w0~ C = 27.94 [ps/ch . 1000 -

- [ - ]
- -
I o . L=
50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,2,8) TVC(eh.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ebe)=(6, 2, 1)
TnuzQr1e+u4 /25 Ty 41z2e+04 1 25 © 1 nu.455e+04 / 25 T 1. 44be+04 [ 25
4000 f, pO 42213 0.0 4000 fae, pO 4264+ 0.0 4000 fome, DO 4264+ 0.0 4000 fs p0 4277+ 0.0
pl 3501 0.00 Pl -37.05:0.00 [ PL_ -35.91: 0.00 Pl -36.83: 0.00

e 3000

3000 N 3000 - 3000 1

2000 - 2000 -1 2000 - 2000

1000 1000 1000 4 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,2, 12 TVC(cbch) (6,213 TVC(cbch) (6,2 14 TVC(C, bch) (6,215

~1uizugve+ud | 25 T inuiz 118e+ud | 25 T i, ro4e+04 / 25 T inuiz1ule+ud / 25
4000 o, po 4212+ 0.0 4000 o, po 4239+ 0.0 4000 pD 4225+ 0.0 4000 4245+ 0.0
pl -34.92+ 0.00 pl -36.63+ 0.00 F pl -35.38+ 0.00 -35.81+ 0.00

e 3000

3000 1 3000 - 3000 -1

2000 ] 2000 2000 - 2000

1000 1000

1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0)

X~ 1 nuiLblie+ud [ 25
v Y 4197+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (63,4

-1 nuiLy43e+u4 / 25
ease pO 4230+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

T nu 31oe+u4 / 25
[ pO 4236+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (6,312

© 1, gooe+u4 / 25
PO 4236+ 0.0
pl -35.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

A7 1 nuiLbobe+u4 / 25
Fomme, LY 4202+ 0.0
pl -36.96+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

- nurLylie+ud [ 25
[Fone, DU 4233+ 0.0
pL -36.48+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 3,9

T . Uobre+u4d [ 25
= pO 4253+ 0.0
pl -35.48  0.00

TP delay [ns]

TVC(cbch) (63,13

T inu srve+ud [ 25
4224+ 0.0
-35.11 + 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (6,3,2)

A7 1 nuiszye+u4 /25
e, po 4215+ 0.0
r pl -36.79+ 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

T L broe+u4 [ 25
- pO 4238+ 0.0
3 pl -36.19 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

©1nubyse+ud [ 25
-, DO 4282+ 0.0
- pl -35.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

T rnuizur4e+u4 [ 25
4226+ 0.0
-36.2+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

A7 1 nuiLbsbe+u4 / 25
- PO 4217+ 0.0
p1 -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

-1 nui yg3e+u4 / 25
- PO 4248+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T, 5U/e+U4/25
- p0 4262+ 0.0
pl -35.74.+ 0.00

TP delay [ns]

TVC(C, bch) (63,15

Tz 181e+u4 /25
- pO 4243+ 0.0
pl -36.43 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

A7 1 nuiLosoe+ud /25
- po 4199+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (64,4

- 1nuiLa41e+04 / 25
e, pO 4188+ 0.0
pL -34.08 + 0.00

[ C =29.35 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T rnuiLy1oe+u4 / 25
= po 4190+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (64,12

T L rse+u4 /25
F=. 4223+ 0.0
-33.57 + 0.00

[C=29.79 [ps/ch] ™. ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

x- 1 L duse+ud | 25
P po 4178+ 0.0
pL -35.49+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nui415e+04 / 25
- pO 4186+ 0.0
pL -34.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

T nugysze+ud [ 25
= po 4210+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (64,13

<1 nuiLvbve+ud / 25
= pO 4222+ 0.0
p1 347+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

AT 1nuizrae+04 /25
_- po 4191+ 0.0
o pl -36.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

T br3e+u4 [ 25
e pO 4190 0.0
[ pl -35.32 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

1 nuiLyy4e+u4 | 25
__ DO 4242+ 0.0
- pl -34.84 + 0.00

TP delay [ns]

TVC(cbch) (64,14

T rnuiL43se+u4 [ 25
pD 4230+ 0.0
pl -33.71+ 0.00

FC =29.67 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

A 1L Sazerud ] 25
= po 4207+ 0.0
pL -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

“rnuan 159e+04 [ 25
- pO 4202+ 0.0
p1 -34.88+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T 4bue+u4/25
== 4227+ 0.0
-33.85+ 0.00

[ C =29.54 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

T nai s4ze+04 /25
= 4226+ 0.0
-34.58 + 0.00

[ C =28.92 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

A~ 1 nui ozoe+u4 [ 25
e po 4205+ 0.0
p1 -35.78+ 0.00

TP delay [ns]

TVC(cbch) (65,4

T i 3.44e+04 1 25
Faase po 4200+ 0.0
-34.2+ 0.0

[ C =29.24 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

Tz 1g1e+u4 /25
4218+ 0.0
-35.8+ 0.0

1
50 00

TP delay [ns]

TVC(cbch) (6,5,12

T L ysse+u4 / 25
= po 4228+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

A1 Ssae+ud [ 25
_ po 4215+ 0.0
pL -35.7:+ 0.0

TP delay [ns]
TVC(cbch) (6 55) -
T g, 31be+u4 / 25
=, Al%z‘
-34.03+ 0.00
[ C=29.39 [ps/ch]™,_ ]
+ o
TP delay [ns]

TVC(c,b ch) (6 59

i Quae+ud ] 25
po 4215 0.0
pL -35.26+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

T inui gse+ud [ 25
pO 4251+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,5,2)

A~ 1 nuiL 4ooe+u4 / 25
. po 4227+ 0.0
[ pl -36.5+ 0.0

3000

TP delay [ns]

TVC(cbch) (6,56

©1nug,3y4e+04 / 25
fo, pO 4211+ 0.0
L pl -34.17 + 0.00

FC =29.27 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

- 1 i 522e+04 | 25
- pO 4244+ 0.0
[ p1 -35.68:+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

T i y4ze+u4 | 25
. pD 4224+ 0.0
L pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A1 3ave+Ud | 25
- po 4212 0.0
pL -34.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

= 1nu 3o /e+04 / 25
= po 4213+ 0.0
p1 -35.11+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

T, 4sze+u4/25
= po 4250+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

- i goze+ud [ 25
e, pO 4237+ 0.0
p1 -36.09 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

AT inuia)/e+04 /25
po 4200+ 0.0
pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (6.6,4

- Ui 446e+04 / 25
e pO 4184+ 0.0
pl -35.02:+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (6, 6 8

©1nuz 1ve+u4 | 25
po 4218+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (6,6,12

Ty oe+ud /25
pO 4236+ 0.0
pl -35.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

AT rnuiLzyie+ud [ 25
- po 4210+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 nui baye+u4 [ 25
4209+ 0.0
-36.3 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 6,9

~ 1 nu.zule+ud [ 25
po 4249+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (6,6,13

~ 1 nuiLp4oe+ud / 25
pO 4229+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,6,2)

A7 1 nui Sooe+u4 / 25
P, po 4205+ 0.0
L pl -35.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (66,6

- 1 nuiL 4p8e+04 / 25
pO 4197+ 0.0
pl -35.48+ 0.00

TP delay [ns]

TVC(cbch) (6, 6 10

1000

T z.59e+04 /25
. po 4260+ 0.0
- pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,614

~ 1L bzoe+u4 / 25
. pD 4226+ 0.0
L pl -35.49 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

AT 1L 1yoe+ud [ 25
po 4218+ 0.0
pl -35.41+ 0.00

C =28.24 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

-1 nui 488e+04 / 25
4209+ 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 6

T wse+u4/25
- po 4257+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(C, bch) (6,6, 15

T nui p4ze+u4 [ 25
= po 4240+ 0.0
p1 -36.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

X~ 1 s1se+U4 /25
4188+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(cbch) (67,4

pO
pL

S a1 50e+04 /25
4200+ 0.0
-34.72+ 0.00

% o
TP delay [ns]
TVC(cbch) (6,7,8)
Tz g oe+u4 [ 25
= po 4209+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (6,7,12

e, po
p1

- 1L y3se+ud [ 25
4256+ 0.0
-36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1)

F.... po

pl

AT 1 nuiLbsse+u4 / 25
4212+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

S nui rz/e+04 [ 25
4212+ 0.0
-35.3+ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (6 7,9

= pO

pl

T nuiLu4/e+U5 /25
4228+ 0.0
-36.41+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 7 13

e, pO
p1

T inui ysse+ud / 25
4250+ 0.0
-37.2+ 0.0

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,7,2)

. po

pl

X~ 1 1L broe+u4 [ 25
4217+ 0.0
-36.24 + 0.00

TP delay [ns]

TVC(cbch) (67,6

== pO

pl

1 nuiL843e+04 / 25
4219+ 0.0
-35.01+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 7, 10

1000

0

F= F’O

T rnuiz.4u/e+04 /25
4253+ 0.0
-37.08 + 0.00

pl

TP delay [ns]

TVC(cbch) (67,14

1000

F= P"
pl

- 1L yZoe+ud [ 25
4254+ 0.0
-36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,7,
%
pl

3

nui quze+ud [ 25
4217+ 0.0
-35.51+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 7,7

-

nuiL B2be+u4 / 25
4219+ 0.0
-34.5+ 0.0

[ C =28.98 [ps/ch] ]

1 1
50 00

TP delay [ns]

TVC(c,b ch) (6, 7

e pO

pl

T UiE+U4/25
4262+ 0.0
-37.48 + 0.00

TP delay [ns]

TVC(c,b ch) (6,7,

X1

- po

15

nui, 148e+u4 [ 25
4264+ 0.0
-36.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0)

AT 1nuiLgroe+ud /25
4184+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,84

-1 nuiLu1be+u4 / 25
e, pO 4270 0.0
pl -38.91+ 0.00

50 10‘0 -
TP delay [ns]

TVC(cbch) (6 8,8

T 1L 4n3e+u4 / 25
- pO 4214+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (6,812

1 nuiL4yse+u4 [ 25
= po 4224+ 0.0
pl -35.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT 1z 1sve+ud [ 25
Foase po 4182+ 0.0
pl -34.75+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

-1 i Boae+u4 [ 25
- pO 4253+ 0.0
-37.7+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

~ 1 nuis.agoe+ud 25
==, 4223+ 0.0
-34.58 + 0.00

[ C =28.92 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (6,813

-1 nuiLubse+ud / 25
= pO 4235+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.54 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

T L1/ /e+04 /25
- pO 4264+ 0.0
[ 382 0.0

K™ 1 nuiLgyye+ud / 25
_l'_ po 4206+ 0.0
- pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (6, 8 10

T rnub31e+ud [ 25
. po 4255+ 0.0
- pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (6,814

T nuiLasse+u4 [ 25
4223+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po

p1

AT rnu 1ye+ud /25
4209+ 0.0
-35.76 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

p==. pO
pl

- 1nu3yle+u4d / 25
4284+ 0.0
-37.94+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

T buze+u4/25
4262+ 0.0
-35.04 + 0.00

pl

TP delay [ns]

TVC(C, bch) (6,815

Tinan 1 p4e+ud [ 25
4233+ 0.0
-35.16 + 0.00

1
100

TP delay [ns]



TVC(cbch)(690) TVC(cbch)(691) TVC(cbch)(692) TVC(cbch)(693)
K™ 1nui roze+U4 /25 AT 1 nunLrose+ud [ 25 AT 1 nuisyse+ud / 25 AT 1L Bobe+u4 [ 25

4000, po 4215+ 0.0 400, pO 4220+ 0.0 4000w, PO 4238+ 0.0 4000 fo, PO 4243+ 0.0
pl -36.63+ 0.00 pl -35.85+ 0.00 F pl -37.69+ 0.00 pl -37.17 + 0.00

3000

E 3000 - 3000 - 3000

2000 2000 2000 =1 2000

1000 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (69,4 TVC(cbch) (69,5 TVC(cbch) (69,6 TVC(c, bch) (69,7

- 1 nuiL4pye+u4 / 25 -1 blye+ud / 25 “ i 7z4e+04 [ 25 S nun 1p3e+ud [ 25
4000 4238+ 0.0 4000 pO 4251£ 0.0 4000 fr=, pO 4260+ 0.0 4000 fr=, pO 4276£ 0.0
-35.2+ 0.0 Pl 3585+ 0.00 [ Pl 3577+ 0.00 -36.8:+ 0.0
3000 4 3000 E 3000 - 3000 ]
2000 4 2000 - 2000 . 2000 ]
Lo = ] 1000 ]
1000 E 1000 b woor C = 27.96 [ps/ch ]
[ - 1 -
- - -
1 1 1 1 0 1 1
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(6,9,8) TVC(eh.e=(6,9,9) TVC(eb.ch=(6, 9, 10) TVC(ebeh)=(6, 9, 11)
TnuzQrze+u4 [ 25 ~11uig bbbe+u4 / 25 T nuzas/e+u4 [ 25 - i yzbe+u4 [ 25
4000 pO 42214 00 4000 fon pO 4234+ 0.0 4000 [, DO 4261+ 0.0 4000 foe, p0 4273+ 00
-35.1% 0.0 Pl -35.93:0.00 L PL_ -36.19: 0.00 Pl -36.29: 0.00

-1 3000

3000 -1 3000 =1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 ] 1000 - 1000 — 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (6, 9 12) TVC(c,b Ch) (6, 9 13) TVC(c,b Ch) (6, 9 14) TVC(c,b Ch) (6, 9 15)
T i szoe+ud [ 25 T 33se+u4 [ 25 ~ i oo0e+u4 / 25 T 1 50e+u4 [ 25
4000 f, pO 4239+ 0.0 4000 f, pO 4235£ 00 4000 fe, PD 4250+ 0.0 4000 fam, pO 4259% 0.0
pl 3413000 p1 -353+ 0.0 [ Pl -36.67+0.00 Pl 36,62+ 0.00

- 3000

3000~ - 3000 N 3000 -1

2000k ] 2000 F 4 2000 = 2000

1000 |- 1000 X —_ 1000

1000 C = 29.30 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T, zse+u4 | 25
4206+ 0.0
-35.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.10,4

- 1L ghoe+04 / 25
e, pO 4215+ 0.0
pl -36.82+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

T L5 r4e+04 /25
= po 4220+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (6,10, 12

~1nuizyove+ud | 25
= po 4229+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

A7 1 nuiLbbe+ud [ 25
- po 4208+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(c, bch) (6.10,5

- nui r9ge+u4 [ 25
e pO 4219 0.0
pL -36.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 10

T nuign1ve+ud [ 25
= po 4223+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (610,13

T inuiLyroe+ud [ 25
pO 4230+ 0.0
pl -35.47 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (6, 10 2)

TrnuiLpr1e+ud /25
. pO 4220+ 0.0
o pl -36.36+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.10,6

- i BY3e+u4 / 25
- pO 4228+ 0.0
[ 369+ 0.0

TP delay [ns]

TVC(cbch) (6, 10 10

©nuzb3be+u4 | 25
4250+ 0.0
-37.01+ 0.00

TP delay [ns]

TVC(cbch) (6.10,14

~1nuiLyose+ud / 25
. pD 4232+ 0.0
L pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

A7 1L booe+ud [ 25
F=- po 4214+ 0.0
pl -37.1+ 0.0

TP delay [ns]

TVC(c, bch) (6,10, 7

-1 nui bble+ud / 25
- pO 4232+ 0.0
p1 -36.43+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (6, 10 1

~ 1 nui g48e+u4 [ 25
- po 4263+ 0.0
p1 -37.17 + 0.00

TP delay [ns]

TVC(cbch) (6,10,15

T nui sose+ud / 25
= po 4239+ 0.0
p1 -35.7+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

b po

pl

X~ 1 nuizuive+ud [ 25
4225+ 0.0
-35.3+ 0.0

TVC(CbCh) (6,11,1)

4000 f=, PO

pl

A7 1 nuiLyyoe+u4 / 25
4223+ 0.0
-34.52+ 0.00

3000 -

2000

w00 C = 28.97 [ps/ch]

TP delay [ns]

TVC(cbch) (6, 11 4

L
50

1
100

TP delay [ns]

TVC(c,b Ch) (6, 11 5

4000

i 321e+u4 [ 25
e po 4182+ 0.0
pl -36.23+ 0.00

- C =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (6, 11 8)

T s4/e+04 /25
= po 4230+ 0.0
pl -35.92+ 0.00

TP delay

TVC(c,b Ch) (6,11, 12

[ns]

A~ 1 nui og/e+u4 / 25
e, po 4253+ 0.0
pl -34.97 + 0.00

TP delay

[ns]

-1 nui 1bYe+u4 / 25
e, pO 4198+ 0.0
pL -37.25+ 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (6, 11

4000

[ns]

S Hm44543+u4/25
4218+ 0.0
-34.51+ 0.00

3000

2000

100 C = 28.98 [ps/ch]

1
50 00

TP delay

TVC(c,b ch) (6, 11 13

4000 e, PO

p1

[ns]

T 1nuin4ze+ud [ 25
4252+ 0.0
-34.76 + 0.00

3000

2000 [~

100r C = 28.77 [ps/ch]

PR R SR |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,11, 2)

e po

X~ 1 i yuze+u4 [ 25
4240+ 0.0
p1 -35.85+ 0.00

TP delay [ns]

TVC(chh) (6, 11 6

T i z3be+u4 | 25
- pO 4206+ 0.0
- pl -36.98 + 0.00

TP delay

TVC(e,b.eh)=(6, 11, 10

[ns]

X~ 11ui2.443e+04 1 25
- po 4251+ 0.0
[ pL -35.45+ 0.00

TP delay

TVC(c,b Ch) (6,11, 14

[ns]

A~ 1 nui ozoe+u4 / 25
-, po 4268+ 0.0
[ p1 -35.8+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,3)

- po

A~ 1 nuizugse+ud | 25
4247+ 0.0
pL -36.78:+ 0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

< inun164e+04 /25
= po 4213+ 0.0
p1 -35.97 + 0.00

50 160
TP delay

TVC( D eh)=(6, 11, 11

= pO

[ns]

Tonai g r3e+u4 /25
4253+ 0.0
pl -35.66 + 0.00

TP delay

TVC(c,b Ch) (6, 11 15

[ns]

S5 r4e+u4 [ 25
4267 0.0
-35.47 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

T Loze+ud /25
Frcea pO 4182+ 0.0
p1 -34.54.+ 0.00

TP delay [ns]

TVC(cbch) (6,124

- 1L bale+ud / 25
Fraese. pO 4233+ 0.0
p1 -37.74+ 0.00

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

T rnuiL418e+04 / 25
= po 4198+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

T rnuiLs10e+u4 / 25
P 4228+ 0.0
-34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,12,1)

AT rnuiLzioe+ud [ 25
e po 4193+ 0.0
pl -33.69 + 0.00

[ C =29.68 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

-1 nui gl3e+u4 / 25
Fomes, po 4228+ 0.0
pL -36.95 + 0.00

TP delay [ns]

TVC(Ebeh)=(6, 12,9

-1 nug byse+u4 / 25
- pO 4224+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (612,13

~ 1 nuiLbope+ud / 25
pO 4224+ 0.0
pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

- C = 29.66 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

K™ 1 nuiL4use+ud /25
_l'_ po 4190+ 0.0
- pl -33.72+ 0.00

- 1L BU3e+u4 / 25
F po 4221 0.0
[ pl -36.93+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

© 1 nuiLgE3e+u4 / 25
- po 4242+ 0.0
- pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (6.12,14

~ 1 nuiLboYe+U4 / 25
__ pD 4234+ 0.0
N p1 344+ 0.0

- C = 29.07 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

X- 1 L adae+U4 | 25
po 4216+ 0.0
pL -35.65+ 0.00

100

TP delay [ns]

TVC(c, bch) (6,127

- i ryze+u4 [ 25
pO 4259+ 0.0
p1 -38.34+ 0.00

TP delay [ns]

TVC(eh.eh)=(6, 12, 11

<1 nuiL pb3e+ud / 25
4263+ 0.0
-36.1+ 0.0

1
100

TP delay [ns]

TVC(cbch) (612,15

[ C =29.06 [ps/ch]

T nai bzze+u4 [ 25
po 4211+ 0.0
-34.41+ 0.00

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 &

3000

2000

1000

TVC(CbCh) (6, 13 0)

T, 3ve+u4 [ 25
Focea pO 4200+ 0.0
p1 -36.85+ 0.00

TP delay [ns]

TVC(Cbch) (6, 13 4

- i bzye+u4 [ 25
b pO 4162+ 0.0
Pl 3555+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 13 8

- s25e+04 [ 25
o po 4198+ 0.0
p1 -34.84 0.00

TP delay [ns]

TVC(c,b ch) (6, 13 12

- 1 i sp3e+u4 /25
po 4209+ 0.0
pl -35.19 + 0.00

L n n n n 1
50 100

TP delay [ns]

TVC(chh) (6,13,1)

4000 fu po

A rLalierUd ] 25
4211+ 0.0
pL -36.85+ 0.00

3000

2000

1000

TP delay

TVC(c,b Ch) (6, 13 5

4000

[ns]

=1 nui bgbe+u4 [ 25
4165+ 0.0
-36+ 0.0

3000

2000

1000

TP delay

TVC(c,b ch) (6, 13

4000 pO

pl

[ns]

T nu, r53e+U4 / 25
4233+ 0.0
-35.31+ 0.00

3000

2000

1000

1
50 00

TP delay

TVC(c,b ch) (6, 13 13

40007 pO

p1

[ns]

T inui psze+ud [ 25
4182+ 0.0
-34.3+ 0.0

3000

2000 [~

100 C = 29.15 [ps/ch]

L n n n n 1
50 100

TP delay

[ns]

4000

3000
2000

1000

4000
3000
2000

1000

TVC(c,b,ch)=( 6, 13, 2)

ur

o po

X1 3059125
4211+ 0.0
p1 -36.42:+ 0.00

TP delay

TVC(c,b ch) (6, 13 6

[ns]

1 nuiLb4e+04 / 25
4169+ 0.0
-35.51+ 0.00

TP delay

TVC(e,b,ch)=(6, 13, 10

[ns]

AL b)e-*UA/ZS
4000 _—_ pO 4216+ 0.0
L pl -33.99+ 0.00
3000 -— N
2000 -— _-
wor C =29.42 [ps/chl ™, 7]
1 L -
0 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(c,b Ch) (6, 13 14

F "

- 1 i g3Ye+u4 [ 25
4201 0.0
p1 -34.88+ 0.00

TP delay

[ns]

TVC(Cbch) (6,13,3)

4000 fu__ po

A~ 1 nuiLbzze+ud [ 25
4214+ 0.0
pL -36.43+ 0.00

3000

2000

1000

TP delay

TVC(c,b Ch) (6, 13 7

4000 pO
p1

[ns]

-1 nui bb3e+ud / 25
4194+ 0.0
-35.75+ 0.00

3000 -

2000 -

1000 [~ C

50 100
TP delay

TVC(cbch) (6, 13 11

4000 po

[ns]

~ 1 nuiLa49e+04 / 25
4235+ 0.0
p1 -36.21+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (6, 13 15

4000 &

[ns]

S s e+ud [ 25
4201% 0.0
-35.32+ 0.00

3000 -

2000 -

oo C = 28.31 [ps/ch

50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 14 0)

T ss0e+u4 [ 25
.. pO 4199+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (6,144

“ a1 /ye+u4 / 25
- pO 4202+ 0.0
p1 -35.41% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

[ C =29.49 [ps/ch]

Tz 1r4e+04 /25
= po 4180+ 0.0
pl -33.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

T L4 /pe+u4 / 25
== po 4209+ 0.0
pl -35.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

A1 L dae+ud | 25
P, po 4200+ 0.0
pL -35.6 0.0

TP delay [ns]

TVC(c, bch) (6.14,5

-1 nui 324e+04 [ 25
- pO 4207+ 0.0
pL -36.57+ 0.00

TP delay [ns]

TVC(ebCh)=(6, 14,9

[ C =29.29 [ps/ch]

~ 1 nu.p3ve+u4 / 25
= po 4203+ 0.0
p1 -34.14 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (614,13

TinaiL s/ /e+ud [ 25
- pO 4192+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(CbCh) (6,14,2)

4000

2000

1000

K™ 1 nui4uie+u4 /25
— po 4204+ 0.0
o pl -35.86+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.14,6

4000

3000

2000

1000

-1 nuiL394e+04 / 25
- pO 4220+ 0.0
[ pl -36.74+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 10

4000

3000

2000

1000

©nuiLys3e+u4 | 25
= po 4210+ 0.0
- pl -34.1+ 0.0

- C = 29.32 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6. 14,14

4000

2000

1000

~1nuiLgnde+u4 [ 25
= pD 4214+ 0.0
L -36.41+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

AT 1nunLo1e+u4 /25
- po 4222+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c, bch) (6,14, 7

un 5669 / 25
= po 4239+ 0.0
pl -36.99 + 0.00

50 100
TP delay [ns]

TVC(ehch)=(6, 14, 11

<1 nui vbye+u4 /25
= po 4217+ 0.0
p1 -34.86+ 0.00

TP delay [ns]

TVC(cbch) (614,15

Tonan 1 a3e+ud [ 25
= pO 4203+ 0.0
-35.71+ 0.00

PR I S S |
50 100

TP delay [ns]



TVC(CbCh) (6, 15 0)

4000

3000

2000

1000

T rnuiLa40e+04 [ 25
- pO 4148+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (6,154

4000

3000

2000

1000

nur1.4e+04 /25
nase pO 4170+ 0.0
pl -34.48 + 0.00

TP delay [ns]

TVC(cbch) (6, 15 8

4000

3000

2000

1000

T rnaiLzz1e+04 /25
. PD 4211+ 0.0
pl -33.98 + 0.00

[ C =29.42 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6,15, 12

4000

3000

2000

1000

T rnuiLso1e+u4 /25
e po 4286+ 0.0
pl -37.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

AT 1L ovoe+ud [ 25
e po 4150+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (6,155

-1 nui4n1e+04 / 25
Fomee pO 4183+ 0.0
pl -34.04 + 0.00

[ C =29.38 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 15

T inu31ze+u4 /25
4228+ 0.0
-34.53 + 0.00

[ C =28.96 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (615,13

Tinairo/e+ud [ 25
[oms, PO 4279+ 0.0
pl -36.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,15,2)

A7 nui sq40e+04 /25
e po 4156+ 0.0
o pl -35.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (6.15,6

1 nuiL494e+04 / 25
Foe pO 4194+ 0.0
- pl -34.93 + 0.00

- C = 28.62 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (6, 15 10

T nuiLplL/e+u4 [ 25
- po 4252+ 0.0
[ pl -34.69 + 0.00

- C = 28.83 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6.15, 14

~ 1 nuiLpode+u4 [ 25
e, pD 4277+ 0.0
L -36.31+ 0.00

PR IR SRR |
50 100

TP delay [ns]

TVC(Cbch) (6,15,3)

4000 po

AT rnuiLobre+ud [ 25
4174+ 0.0
pl -36.06 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,15, 7

4000 pO

pl

[ns]

-1 nui 3b4e+04 / 25
4198+ 0.0
-33.84+ 0.00

3000

2000 -

10 C = 29.55 [ps/ch]

L
50 100
TP delay

TVC(cbch) (6, 15 1

4000 fum po

pl

[ns]

~ 1 nuiL 18Ye+u4 [ 25
4242+ 0.0
-34.07 + 0.00

3000 -

2000 -

1o00F C = 29.35 [ps/ch]

1
50 100

TP delay

TVC(cbch) (615,15

TS

4000 pO

[ns]

- revua] 25
4285+ 0.0
pL -36.84 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0

A7 rzae+04 /25
- po 4193+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (70,4

T 5 /e+04 [ 25
4176+ 0.0
-34.4+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

T Z11e+04 /25
= PD 4209+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (7,0,12

T, rs3e+u4 / 25
= po 4239+ 0.0
pl -37.79+ 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

AT 1 nuLBsoe+ud [ 25
P s po 4194+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

“nun rz1e+04 [ 25
E pO 4193 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

Tinag4y1e+u4 [ 25
= pO 4211+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (7,0,13

Tinuiz g rse+ud [ 25
- pO 4232+ 0.0
pl -37.26 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

TP delay [ns]

TVC(cbch) (70,6

T LB/ re+u4 [ 25
F po 4186+ 0.0
[ pl -34.55 + 0.00

X~ 1w 1 ye+ud [ 25
= po 4204+ 0.0
L pl -36.46 + 0.00

3000

EC = 28.94 [psichPy, 1

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

T a2 ysze+ud | 25
= po 4250+ 0.0
L pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (7,0,14

T 1nuig.a40e+04 / 25
3 pD 4238+ 0.0
[ p1 -38.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

AT rnuiLsyLe+ud [ 25
P s po 4197+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

-1 nui Yyge+u4 / 25
4210+ 0.0
-35+ 0.0

TP delay [ns]

TVC(c,b ch) (7, O

T, mue+u4/25
= pO 4246+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

T inuizysae+ud [ 25
e po 4246+ 0.0
p1 374+ 0.0

TP delay [ns]



TVC(eb. (7, 1,0) TVe(Eb.oh=(7,1,1) TVC(eb (7, 1,2) TVe(Eheh=(7,1,3)
X~ Loe+ud /25 X~ 1 i Bave+ud 25 X~ 1, 7508 +04 25 A~ 84 e+Ud [ 25
4000, po 4176+ 0.0 A00E, po 4191+ 0.0 4000E_, po 4192+ 0.0 4000, po 4222+ 0.0
Pl -3569+ 0.00 Pl -36.55+ 0.00 [ Pl 36,67+ 0.00 pL -36.31% 0.00

- 3000

3000 -1 3000

-1 3000

2000 - 2000 -1 2000 = 2000

1000 4 1000 - 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7.1,4 TVC(cbch) (7,1,5 TVC(cbch) (7,1,6 TVC(cbch) (7,1,7

- i 3z4e+04 [ 25 -1 pbse+ud [ 25 “ i 753e+04 [ 25 Cnun1bre+ud [ 25
4000, pO 4222+ 0.0 4000 fm,, DU 4218+ 0.0 4000 fm, pO 4232+ 0.0 4000 fo, pO 4239+ 0.0
Pl -36.05: 0.00 Pl -35.49: 0.00 [ Pl 3576+ 0.00 Pl -35.99:+ 0.00

3000~ 1 3000 - 3000 - 3000 [ N

2000~ b 2000 E 2000 - - 2000~ N

1000 - ] [ ~— ] 1000 E

C 1000 1000[ C=2797 [pS/Ch ] C
- F - L "
1 1 " 1 1 ~- 1 T-
50 00 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(7, 1,8 TVCEebeh)=(7, 1, TVC(ebeh)=(7, 1, 10 TVC(eb.eh=(7, 1,

11
LIS I)Hde+U4 125 T nug 1)1/e+u4/25 RALA b21e+04/25 T rnug 94)::e+u4/25
4000, pO 4227+ 0.0 4000 e, pO 4237 0.0 4000 DO 4249+ 0.0 4000 o p0 4263 0.0
Pl 3553 0.00 -34.6 % 0.0 L Pl -33.38+0.00 Pl -34.74 0.00
3000 E 3000 [ E 3000} ] 3000 - B
2000 4 2000 E 2000k ] 2000 1
1000 B 1000 C = - I ] 1000 C = —
C =28.90 [ps/ch] - w0k C = 29.96 [ps/ch] -, 1 C =28.78 [ps/ch] -
1 1 - [ 1 ' i 1 1 -
50 100 0 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(711 ) TVC(cbch)(7113) TVC(cbch)(7114) TVC(cbch)(7115)
1L pb4e+u4 [ 25 T inuiLysse+ud / 25 T 1 gae+ud /25 T nai 4se+ud [ 25
4000 pO 4224+ 0.0 4000 pO 4222+ 0.0 4000 PD 4226+ 0.0 4000 o, pO 42291 0.0
pl -35.24 + 0.00 pl -35.48.+ 0.00 F pl -35.87 + 0.00 pl -35.32+ 0.00

- 3000

3000 -1 3000 - -1 3000 -

2000 -1 2000 - 2000 - 2000

1000 -1 1000 [~

& 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

AT inuiasie+ud /25
po 4206+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (72,4

-z 1u3e+u4 / 25
e, pO 4186+ 0.0
p1 -35.34+ 0.00

e 4
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

Tz 1z1e+04 /25
po 4232+ 0.0
pl -37.53+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T 11e+ud /25
pO 4215+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7,2,1

AT rnunLssLe+ud [ 25
Foase po 4190+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

-1 nuz.034e+04 / 25
[, DO 4206+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

1 nuig syse+ud | 25
= po 4237+ 0.0
pl -35.52 + 0.00

TP delay [ns]

TVC(cbch) (7.2,13

T inuigose+ud [ 25
pO 4212+ 0.0
pl -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

A7 1 nui4z9e+04 /25
o po 4199+ 0.0
L pl -36.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,2,6

S rnun 1be+ud /25
4189+ 0.0
-34.6+ 0.0

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

1 nuz. Zobe+ud | 25
- po 4254+ 0.0
- pl -36.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

T rnuiLbi4e+04 /25
pD 4225+ 0.0
pl -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT 1L ouse+u4 [ 25
1 s, po 4212+ 0.0
pl -36.14+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

-1 nu 1b0e+04 / 25
- pO 4211£ 0.0
pL -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

AN u51e+u4/25
= po 4259+ 0.0
pl -37.68 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

-1 nuiLyyye+ud / 25
- po 4229+ 0.0
p1 -35.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0)

A1,

r3ve+u4 /25
4185+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

= i bbbe+ud / 25
[, PO 4178+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (7 3,8

©1nuz1uge+u4 / 25
4195+ 0.0
-36.25+ 0.00

TP delay [ns]

TVC(cbch) (7,3, 12

A1,

r44e+04 1 25
4214+ 0.0
-36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,1)

Fomes po

pl

A1 (ave+Ud | 25
4195+ 0.0
-37.27+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

- nu u3e+u4 / 25
4188+ 0.0
-36.4 + 0.0

1
100

TP delay [ns]

TVC(c,b ch) (7 3,9

-1 naizyve+ud [ 25
4213+ 0.0
-36.8 + 0.0

1
100

TP delay [ns]

TVC(cbch) (7.3,13

Tinairy/e+ud [ 25
4205+ 0.0
-36.31+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

P PO

pl

K™ 1 nuiL yg0e+04 / 25
4201+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(cbch) (73,6

1000

1000

0

= 1 Jo1e+04 [ 25
pO 4192+ 0.0
pl -35.94 + 0.

-35.94 + 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

= o

~ 1 nuzpooe+ud | 25
4232+ 0.0
-37.15+ 0.00

pl

TP delay [ns]

TVC(cbch) (7,3, 14

A1,

r9se+U4 /25
4210+ 0.0
-36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,.3,3)

Fones, po

p1

AT 1 nuiLsbbe+ud [ 25
4201+ 0.0
-36.53+ 0.00

TVC(c,b ch) (7 3,7

1
100

TP delay [ns]

- nu /31e+04 / 25
pO 4197+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

. pO

T 915e+u4/25
4240+ 0.0
-36.82+ 0.00

pl

TP delay [ns]

TVC(C, bch) (7,3,15

A rnan L

soe+ud / 25
4222+ 0.0
-35.97 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1 g,

313e+04 /25
4189+ 0.0
-35.98+ 0.00

TP delay [ns]

TVC(cbch) (7.4,4

AL

Fraese. PO

4bbe+u4 [ 25
4211+ 0.0
-35.79+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 4,8

- g,
pO
p1

B3/e+04 /25
4213+ 0.0
-34.95+ 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

Trnuiz4r1e+04 /25
4216+ 0.0
-36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

P PO

pl

AT 1 nuiz,154e+U4 [ 25
4185+ 0.0
-35.22+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

S nuibr1e+u4 / 25
4213+ 0.0
-35.38 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

e, po

pl

~ 1 nup. Sbve+ud / 25
4233+ 0.0
-35.12+ 0.00

TP delay [ns]

TVC(cbch) (7.4,13

Tinuzzrse+ud [ 25
4224+ 0.0
-35.46 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (7.4,2)

[oeee, po

pl

A7 nuig ioze+04 /25
4192+ 0.0
-35.99 + 0.00

TP delay [ns]

TVC(cbch) (7,46

pO
p1

-1 nuiLbble+ud / 25
4224+ 0.0
-36.77 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

pO

pl

© 1 nuzpgge+ud | 25
4248+ 0.0
-34.82+ 0.00

TP delay [ns]

TVC(cbch) (7.4,14

~ 1 nuizusoe+ud | 25
4212+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

yase+ud | 25
4196 + 0.0
-35.67 + 0.00

PSR

e, po
pL

TP delay [ns]

TVC(c,b ch) (7 4,7

pO
pl

-1 nui Yoze+u4 / 25
4232+ 0.0
-36.96 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (7,4,

X,

= po
pl

1)
190e+U4 | 25
4250+ 0.0
-35.17 + 0.00

TP delay [ns]

TVC(C, bch) (7.4,15

T inuizazse+ud [ 25
4234+ 0.0
-37.09+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0

K™ 1 nuioole+ud /25
- po 4187+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7,54

T rye+ud [ 25
e, pO 4189+ 0.0
p1 -34.58:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

1 nuiz,0yoe+u4 / 25
po 4206+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (7,5,12

T Ly rse+u4 [ 25
pO 4237+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51)

S pore+ud [ 25
Frase pO 4193+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c,b ch) (7 55

-1 nui 3bze+u4 [ 25
e, pO 4209+ 0.0
pL -35.61+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 59

Tinan s /ye+ud [ 25
= po 4218+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (7.5,13

Tinun L oge+ud [ 25
= pO 4238+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (7,5,2)

TP delay [ns]

TVC(cbch) (7,56

Tonun Lose+ud [ 25
Fuu po 4213+ 0.0
o pl -35.91+ 0.00

3000

S a1 b3e+u4 /25
E. pO 4205+ 0.0
[ pl -35.04+ 0.00

- C = 28.54 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

T, rg1e+u4 [ 25
. po 4237+ 0.0
- pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (7,5,14

~ L, rspe+u4 | 25
4242+ 0.0
-37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT 1 nuiLbzae+u4 | 25
Fracee po 4218+ 0.0
pl -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (7 57

=1 nui bube+u4 / 25
- pO 4216+ 0.0
pL -35.37+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

T ‘JUBe+U4/25
- pO 4241% 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

T nai r9se+ud [ 25
= po 4226+ 0.0
p1 -35.94+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,0

X~ 1w s14e+04 /25
[roene PO 4227+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

=i Buse+u4 / 25
Fraese. pO 4207+ 0.0
pl -35.44  0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 6,8

T rnuz3o1e+u4 /25
- PD 4188+ 0.0
pl -34.07 + 0.00

I C =29.35 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7,6,12

T iU y1se+ud / 25
- po 4202+ 0.0
pl -32.52+ 0.00

[ C =30.75[ps/ch] ™ 1]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

AT 1w, fove+u4 [ 25
[Fomm po 4230+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

- 1nuz 114e+04 25
[Fomes, pO 4225+ 0.0
pL -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

T nayz1ze+u4 [ 25
- DO 4223+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (7.6,13

T 5 /ye+u4 [ 25
F pO 42351 0.0
pl -35.44 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

K™ 1 nuioove+u4 / 25
[oase, PO 4224+ 0.0
L pl -35.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

- rnu 1zoe+04 [ 25
e, pO 4238+ 0.0
3 pl -36.28+ 0.00

TP delay [ns]

TVC(cbch) (7, 6 10

S rnu 5/e+04 /25
F DO 4248+ 0.0
r pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (7.6,14

1000

~ L gooe+u4 / 25
PD 4248+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(cbch) (7,6,3

3000

2000

1000

AT 1 nuiLbrse+u4 /25
4000 e, po 4241+ 0.0
pL -36.58  0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

3000

2000 -

1000 [~

T bzae+U4 [ 25
4000 fos PO 42524 0.0
Pl -36.68+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 6

4000 o

3000

2000

1000

Trnun g 14e+u4/25
pO 4235+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

4000 [

3000

2000

1000

Tinuiz1s/e+ud [ 25
PO 4240+ 0.0
-35.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0)

X~ 1w 4oze+04 [ 25

p1 -34.83:+ 0.00

4206+ 0.0

TP delay [ns]

TVC(cbch) (77,4

T 3s1e+u4 / 25

F po 4203+ 0.0
-34.9+ 0.0

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

1 nuiz z3ge+ud | 25

= po 4216+ 0.0
p1 -35.33 0.00

TP delay [ns]

TVC(cbch) (7,7,12

1 nuiLBoe+u4 [ 25

o, po 4223+ 0.0
pl -37.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

A1 L dyae+Ua | 25
k.. po 4219+ 0.0
pL -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

= rnuiL3/4e+04d [ 25
F po 4214+ 0.0
pl -35.64 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 7

~ 1 nug ysze+ud [ 25
= po 4232+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (7,7,13

T inui gbse+ud / 25
- pO 4222+ 0.0
pl -37.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (7,7,2)

- C = 28.48 [ps/ch

AT 1nuiL3ore+u4 /25
P, po 4218+ 0.0
- pl -35.11+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

- 1L bube+u4 / 25
4232+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(ebeh)=(7, 7, 10

0

Tz 143e+04 / 25
=, po 4239+ 0.0
- pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (7,7,14

T 1nuizuLoe+ud [ 25
4220+ 0.0
-36.81+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

A

- PO
p1

L1.4ae+u4 /25
4223+ 0.0
-35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

o, pO

-1 bg3e+u4 / 25
4235+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(c,b ch) (7,7,

X~ 1

B3e+u4 / 25
4250+ 0.0
-36+ 0.0

TP delay [ns]

TVC(C, bch) (7,7,15

SRR

(11e+U4 /25
4221+ 0.0
-37.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

A7 nui yzse+ud [ 25
po 4163+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (7.8,4

- 1 i BoYe+ud / 25
e, pO 4180+ 0.0
p1 -35.73+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 8,8

©1nuzpose+ud | 25
[, PD 4196+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (7,812

© L gose+u4 / 25
= po 4208+ 0.0
pl -37.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,1

AT 1 nuiLryve+ud [ 25
s po 4177+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(c,b ch) (7 8,5

-1 nu Byze+u4 [ 25
4188+ 0.0
-36.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 8,9

T nup.1ule+ud / 25
po 4217+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (7.8,13

T nuizylae+ud [ 25
3 pO 4214+ 0.0
pl -38.15+ 0.00

PR U S S |
50 100

TP delay [ns]

TVC(cbch) (7,8,2)

4000

2000

1000

TP delay [ns]

TVC(cbch) (78,6

4000

3000

2000

1000

K™ 1 nuiLgzze+u4 /25
e po 4178+ 0.0
L pl -35.46 + 0.00

3000

-1 Uz, 08be+u4 / 25
Frcee po 4193+ 0.0
[ pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (7, 8 10

4000

3000

2000

1000

Tz, rz9e+04 | 25
P po 4202+ 0.0
L -33.6 + 0.0

F C = 29.76 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (7.8 14

4000

3000
2000

1000

© L gEoe+U4 / 25
= pD 4226+ 0.0
[ p1 -38.37+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,3

AT 1L 1se+u4 [ 25
P s po 4177+ 0.0
p1 -34.82+ 0.00

[ C=28.72 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (7 8,7

- 1nug 1yse+u4 / 25
pO 4205+ 0.0
pL -36.63+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 8

AN uabe+u4/25
e pO 4204+ 0.0
p1 -34.96 + 0.00

TP delay [ns]

TVC(C, bch) (7.8,15

T nuiz.usye+ud [ 25
- po 4226+ 0.0
p1 -37.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,0

AT 1nun s4ze+04 /25
- po 4178+ 0.0
pl -39.14 + 0.00

TP delay [ns]

TVC(cbch) (79,4

- 1L bble+ud / 25
e pO 4185+ 0.0
p1 -37.11+ 0.00

TP delay [ns]

TVC(cbch) (7 9,8

1 nuiz,0yoe+u4 / 25
= po 4190+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(cbch) (7,9,12

© L gsve+u4 / 25
= po 4202+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,91

AT 1 nuiL Sbge+u4 [ 25
P e po 4178+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

=1 nuiL agze+ud | 25
= po 4193+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

~ 1 nuy 3use+ud / 25
= po 4227+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (7,9,13

~ 1 nuiz.ugbe+ud 25
- pO 4201+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,9,2)

AT 1nunzsae+04 /25
e po 4193+ 0.0
L pl -37.5+ 0.0

- C = 26.66 [ps/c .

50 100

TP delay [ns]

TVC(cbch) (79,6
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